
uksV % uksV % uksV % uksV % ÑÑÑÑi;k i;k i;k i;k bl iqfLrdk ds vUr esa fn, x, 'ks"k funsZ'kksa dks i<+saAbl iqfLrdk ds vUr esa fn, x, 'ks"k funsZ'kksa dks i<+saAbl iqfLrdk ds vUr esa fn, x, 'ks"k funsZ'kksa dks i<+saAbl iqfLrdk ds vUr esa fn, x, 'ks"k funsZ'kksa dks i<+saA (Please read other remaining instructions given on the last page of this booklet.) 

iz'u&iqfLrdkiz'u&iqfLrdkiz'u&iqfLrdkiz'u&iqfLrdk    Øekad ,oaØekad ,oaØekad ,oaØekad ,oa    vks0,e0vkj0 Øekadvks0,e0vkj0 Øekadvks0,e0vkj0 Øekadvks0,e0vkj0 Øekad
Question-Booklet Serial No. & O. M. R. Serial No.

izFke izFke izFke izFke 10    feuV esa vH;FkhZ viuh iz'u&iqfLrdk ds Øekad dk feyku vks0,e0vkj0 mÙkj i=d ds Øekad lsfeuV esa vH;FkhZ viuh iz'u&iqfLrdk ds Øekad dk feyku vks0,e0vkj0 mÙkj i=d ds Øekad lsfeuV esa vH;FkhZ viuh iz'u&iqfLrdk ds Øekad dk feyku vks0,e0vkj0 mÙkj i=d ds Øekad lsfeuV esa vH;FkhZ viuh iz'u&iqfLrdk ds Øekad dk feyku vks0,e0vkj0 mÙkj i=d ds Øekad ls    vo';vo';vo';vo';    dj ysaA ;fn vks0dj ysaA ;fn vks0dj ysaA ;fn vks0dj ysaA ;fn vks0    ,e0 vkj0,e0 vkj0,e0 vkj0,e0 vkj0    
mÙkj i=d o iz'u&iqfLrdk ds Øekad fHkUu gSa rks dsUnz v/kh{kd ls fuosnu djds iz'u&iqfLrdk cny ysaAmÙkj i=d o iz'u&iqfLrdk ds Øekad fHkUu gSa rks dsUnz v/kh{kd ls fuosnu djds iz'u&iqfLrdk cny ysaAmÙkj i=d o iz'u&iqfLrdk ds Øekad fHkUu gSa rks dsUnz v/kh{kd ls fuosnu djds iz'u&iqfLrdk cny ysaAmÙkj i=d o iz'u&iqfLrdk ds Øekad fHkUu gSa rks dsUnz v/kh{kd ls fuosnu djds iz'u&iqfLrdk cny ysaA        

Exam. – 2021 

BIOLOGY 
 

vuqØekad ¼vadksa esa½ % � � � � � � �    
Roll No. (In Figures) 

vuqØekad ¼'kCnksa esa½ % _________________________________________________________________________________________________________________________ 
Roll No. (In Words)  

ijh{kk dsUnz dk uke % __________________________________________________________________________________________________________________________ 
Name of Examination Centre  

vH;FkhZ dk uke % _____________________________________________________________ vH;FkhZ ds gLrk{kj %vH;FkhZ ds gLrk{kj %vH;FkhZ ds gLrk{kj %vH;FkhZ ds gLrk{kj % ___________________________________________ 
Name of Candidate                                                                        Signature of Candidate  

bl iz'ubl iz'ubl iz'ubl iz'u&&&&iqfLrdk esa i`"Bksa dh la[;kiqfLrdk esa i`"Bksa dh la[;kiqfLrdk esa i`"Bksa dh la[;kiqfLrdk esa i`"Bksa dh la[;k    
No. of Pages in this Question Booklet 

32 iz'uksa dh la[;kiz'uksa dh la[;kiz'uksa dh la[;kiz'uksa dh la[;k    
No. of Questions 

150 le;le;le;le;    
Time 

2½ hours 

fujh{kd ds gLrk{kjfujh{kd ds gLrk{kjfujh{kd ds gLrk{kjfujh{kd ds gLrk{kj    (Signature of Invigilator) : ___________________________________________ 

vH;FkhZ dks 10 feuV dk le; iz'u&iqfLrdk ij Nis funsZ'kksa dks i<+us rFkk mÙkj i=d esa vius fooj.k Hkjus ds fy, fn;k tk,xkA ;fn iz'u&iqfLrdk o mÙkj i=d  dh 
Øe la[;k xyr vafdr gksa rks rqjUr dsUnz v/kh{kd ls fuosnu djds iz'u&iqfLrdk cny ysaA blds i'pkr~ dksbZ nkok Lohdkj ugha fd;k tk,xkA bu 10 feuVksa ds 
vfrfjDr] iz'uksa ds mÙkj vafdr djus ds fy, iwjs 2½ ?kaVs dk le; fn;k tk,xkA ;fn fdlh v;fn fdlh v;fn fdlh v;fn fdlh vH;FkhZ dks iz'u&H;FkhZ dks iz'u&H;FkhZ dks iz'u&H;FkhZ dks iz'u&iqfLrdkiqfLrdkiqfLrdkiqfLrdk    esa esa esa esa fn, x, fdlh Hkh iz'u eas dksbZ =qfV gksus dk fn, x, fdlh Hkh iz'u eas dksbZ =qfV gksus dk fn, x, fdlh Hkh iz'u eas dksbZ =qfV gksus dk fn, x, fdlh Hkh iz'u eas dksbZ =qfV gksus dk 
lansg gks rks blds fy, vH;fFkZ;kas dks ijh{kk lekfIr ds mijkUr izfrosnu nsus ds fy, volj fn;k tk,xkA vr% vH;FkhZ fu/kkZfjr volansg gks rks blds fy, vH;fFkZ;kas dks ijh{kk lekfIr ds mijkUr izfrosnu nsus ds fy, volj fn;k tk,xkA vr% vH;FkhZ fu/kkZfjr volansg gks rks blds fy, vH;fFkZ;kas dks ijh{kk lekfIr ds mijkUr izfrosnu nsus ds fy, volj fn;k tk,xkA vr% vH;FkhZ fu/kkZfjr volansg gks rks blds fy, vH;fFkZ;kas dks ijh{kk lekfIr ds mijkUr izfrosnu nsus ds fy, volj fn;k tk,xkA vr% vH;FkhZ fu/kkZfjr volj ds nkSjku bl lEcU/k eas viuk lj ds nkSjku bl lEcU/k eas viuk lj ds nkSjku bl lEcU/k eas viuk lj ds nkSjku bl lEcU/k eas viuk 
izfrosnu cksMZ dk;kZy; easizfrosnu cksMZ dk;kZy; easizfrosnu cksMZ dk;kZy; easizfrosnu cksMZ dk;kZy; eas    ntZ djok ldrs gSntZ djok ldrs gSntZ djok ldrs gSntZ djok ldrs gSaa aaA bl volj ds ckn] bl lEcU/k esa izkIr izfrosnuksa ij dksbZ fopkj ugha fd;k tk,xkAA bl volj ds ckn] bl lEcU/k esa izkIr izfrosnuksa ij dksbZ fopkj ugha fd;k tk,xkAA bl volj ds ckn] bl lEcU/k esa izkIr izfrosnuksa ij dksbZ fopkj ugha fd;k tk,xkAA bl volj ds ckn] bl lEcU/k esa izkIr izfrosnuksa ij dksbZ fopkj ugha fd;k tk,xkA    

;fn fdlh iz'u esa fgUnh o vaxzsth ek/;e esa fHkUurk gS rks vaxzsth ek/;e dk iz'u Bhd ekuk tk,xkA;fn fdlh iz'u esa fgUnh o vaxzsth ek/;e esa fHkUurk gS rks vaxzsth ek/;e dk iz'u Bhd ekuk tk,xkA;fn fdlh iz'u esa fgUnh o vaxzsth ek/;e esa fHkUurk gS rks vaxzsth ek/;e dk iz'u Bhd ekuk tk,xkA;fn fdlh iz'u esa fgUnh o vaxzsth ek/;e esa fHkUurk gS rks vaxzsth ek/;e dk iz'u Bhd ekuk tk,xkA    
If there is any variance between Hindi and English Version of any question then English Version would be considered correct.    

vH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'k    (INSTRUCTIONS FOR THE CANDIDATES) : 
1.   vks-,e-vkj- mÙkj i=d bl iz'u&iqfLrdk ds vUnj j[kk gSA tc vkidks iz'u&iqfLrdk i<+us dks dgk tk,] rks mÙkj i=d fudky dj /;ku ls dsoy 

dkys ckWy IokbaV iSu ls fooj.k HkjsaA (The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the 

Question Booklet, take out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.) 

2. ijh{kk dh vof/k 2½    ?kaVs?kaVs?kaVs?kaVs gS ,oa iz'u&iqfLrdk esa 150 iz'u gSaA dksbZ _.kkRed vadu ugha gSAdksbZ _.kkRed vadu ugha gSAdksbZ _.kkRed vadu ugha gSAdksbZ _.kkRed vadu ugha gSA (The test is of two-and-half hours 
duration and consists of 150 questions. There is no negative marking.) 

3. vius fooj.k vafdr djus ,oa mÙkj i=d ij fu'kku yxkus ds fy, dsoy dkys ckWy IokbaV iSudkys ckWy IokbaV iSudkys ckWy IokbaV iSudkys ckWy IokbaV iSu dk iz;ksx djsaA vH;FkhZ iz'u&iqfLrdk dk mi;ksx 
djus ,oa mÙkj i=d dks Hkjus esa lko/kkuh cjrsaA (Use Black Ball Point Pen only for writing particulars on this 

page/darkening responses in the Answer Sheet. The candidate should remain careful in handling the question paper 

and in darkening the responses on the answer sheet.) 

4. izFke 10 feuV esa] ;g Hkh lqfuf'pr dj ysa fd iz'u&iqfLrdk Øekad vkSj mÙkj i=d Øekad ,d gh gSaA vxj ;g fHkUu gksa rks vH;FkhZ nwljh 
iz'u&iqfLrdk vkSj mÙkj i=d ysus ds fy, i;Zos{kd dks rqjUr voxr djok,¡A (Within first 10 minutes, also ensure that your 

Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy, the candidate should 

immediately report the matter to the Invigilator for replacement of both the Question Booklet and the Answer Sheet.) 

5. ysoyysoyysoyysoy&&&&3    ¼¼¼¼izoDrkizoDrkizoDrkizoDrk    ds fy,ds fy,ds fy,ds fy,½½½½    
Hkkx&I  % cky fodkl o f'k{kk 'kkL= ¼ç0 1 ls ç0 30½    
Hkkx&II  % Hkk"kk % ¼ç0 31 ls ç0 60½ 
  ¼fgUnh % 15 iz'u o vaxzsth % 15 iz'u½ 
Hkkx&III % lkekU; v/;;u % ¼ç0 61 ls ç0 90½ 
  ¼ek=kRed ;ksX;rk % 10 iz'u] rkfdZd vfHk{kerk % 10 iz'u] 

lkekU; Kku ,oa vfHkKku % 10 iz'u½ 
Hkkx&IV % tho foKku  ¼ç0 91 ls ç0 150½ 

        
5. Level–3 (For Lecturer) 

Part–I : Child Development  
  and Pedagogy  (Q. 1 to Q. 30) 

Part–II  : Language : (Q. 31 to Q. 60) 

  (Hindi : 15 Q. & English : 15 Q.)  

Part–III : General Studies : (Q. 61 to Q. 90) 

  (Quantitative Aptitude : 10 Q, Reasoning 
Ability : 10 Q, G. K. & Awareness  : 10 Q) 

Part–IV : Biology (Q. 91 to Q. 150) 
 
 

Level : 3 
PGT : For Lecturer 

Sub. Code No. : 317 

SET : A 

PGTP
rim

e.c
om



jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, (FOR ROUGH WORK) 

PGTP
rim

e.c
om



 [ 3 ] [ A ] 

Level-3/317  P. T. O. 

HkkxHkkxHkkxHkkx – I (PART – I) 
c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL=c ky fo dkl o f'k{ kk'kkL= (CHILD DEVELOPMENT AND PEDAGOGY) 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %     f uEu fy f[ kr iz'uk s a d s m Ù kj ns us d s f y,     l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A     
Direction :  Answer the following questions by selecting the most appropriate option. 

1. igy k cq f )  ijh{k .k  f d lu s c uk ;k  \ 
 
(1) y s os V j 
(2) l s a xq bu 
(3) Ý k fUl l xk YVu  
(4) v YÝ s M  fcu s v kS j l kbeu  

  1. Who developed the first intelligence 
test ? 

(1) Lavator 
(2) Sanguin 
(3) Francis Galton    
(4) Alfred Binet and Simon 

2. e uks f oK ku dh  'k k[ kk tks ;g v /;; u d jrh 
gS f d  yks x iw js th ou d ky  e s a 'k kjhf jd ] 
la K ku kRed  v kS j l kek ftd  :i ls d S ls 
c ny rs gSa]  d gy krh  gS % 
(1) u S nk fu d  eu ks fo Kku 
(2) ijke 'k Z euk s fo Kk u 
(3) f od k lk Red  e uk s fo Kku     
(4) ç;k s xk Re d  e uk s fo Kk u 

  2. A branch of psychology which 
studies how people change physically, 
cognitively and socially over the 
entire life span is known as : 
(1) Clinical psychology 
(2) Counselling psychology 
(3) Developmental psychology    
(4) Experimental psychology 

3. fu Eu fyf [k r es a ls d kSu-lk tUe tkr 
v fH k çs jd  u gh au gh au gh au gh a   gS \ 
(1) l q j{k k (2) H k w [k  
(3) I ;k l (4) f oJ ke  

  3. Which of the following is not the 
innate motive ? 

(1) Safety (2) Hunger 

(3) Thirst (4) Rest 

4. ; g f d lu s d gk  fd  ^^ fd'k ks jko LF kk nc ko] 
r uko] r w Q ku  rF kk  l a ?k"k Z d h v oLF k k gS* * \ 
(1) f of y; e ,p 0  cV Z u 
(2) LV s uy s gkW y 
(3) t s0  ,0  gs MQ hYM     
(4) t hu fi; kts 

  
4. Who stated that "Adolescence is a period 

of stress, strain, storm and strife" ? 
(1) William H. Barton 
(2) Stanley Hall 
(3) J. A. Hadfield 
(4) Jean Piaget 

5. fu Eu fyf [k r es a ls d kS u-lk xS u s }k jk çnÙk 
v f/ kxe  lks ikf ud h  f l) kU r d k m Ppre  Lrj 
gS \ 
(1) l eL; k lek /kk u v f/k xe  
(2) f l) kUr v f/k xe  
(3) çR; ; v f/k xe     
(4) c gq f oH k s nu  v f/kxe  

  5. Which of the following is the highest 
level in hierarchical theory of 
learning given by Gagne ? 

(1) Problem solving learning 
(2) Principle learning 
(3) Concept learning    
(4) Multiple discrimination learning 
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6. fu Eu fyf [k r e sa ls d kS u-lh O ;f Dr Ro ek iu 
d h  v ç{ks ih r d uh d  gS \ 
 
(1) l kgp;Z çfo f/k  
(2) l ekt fe rh; çf of /k 
(3) jpu k çfo f/k     
(4) iw fr Z çf of /k 

  6. Which of the following is the non 
projective technique of personality 
measurement ? 
(1) Association technique 
(2) Sociometric technique 
(3) Construction technique 
(4) Completion technique 

7. fu Eu fyf [k r e s a ls d kS u-l k v PN s eku fld 
Lo kLF ; d k  y{k. k  u gh au gh au gh au gh a   gS \ 
(1) l ka o s fxd  ifjiDor k   
(2) v k Ref o'o kl  
(3) v l gu h; rk  
(4) v k Re e w Y; kad u d h {ke rk 

  7. Which of the following is not the 
characteristic of good mental health ? 

(1) Emotional maturity  

(2) Self confidence 

(3) Intolerance 

(4) Capacity of self evaluation 

8. fu Eu fyf [k r es a ls d kS u-l k la çR;; thu  
fi; kts us v iu s l a Kku kR ed fo d kl  f l) kUr 
e s a u gh au gh au gh au gh a f n; k gS \ 
(1) v k Rel kr hd j. k (2) l ef o"V hd j. k  
(3) l ka d s fr d (4) l a rq y u 

  8. Which of the following concept is 
not introduced by Jean Piaget in his 
Cognitive Development theory ? 
(1) Assimilation (2) Accommodation 
(3) Symbolic (4) Equilibration 

9. fu Eu fyf [k r es a ls d kS u-lk ,d  pj. k pf j= 
d s f od k l ds la nH kZ es a ts El M ª s oj }k jk 
fu /kk Z fjr p j. k ksa esa ls u ghau ghau ghau gha      gS \ 
(1) v ifj"Ñ r la o s xk sa d k  p j.k 
(2) e uk sH kko d k pj. k 
(3) v k Rel Eek u pj. k 
(4) ikja ifjd  pj. k d s v uq :i 

  9. Which one of the following stage is 
not prescribed by James Draver in 
the context of development of 
character ? 
(1) The stage of crude emotion 
(2) The stage of sentiment 
(3) The self regard stage 
(4) Conforming conventional stage 

10. la K ku kRed  fo d kl  d s l ke kft d-lk a LÑ frd 

fl ) ka r d s tu d  d kS u  F ks s \ 
(1) t hu fi; kts (2) t s jk s e c z wuj 
(3) y s o ok bxk s V~Ld h  (4) d ks gyc xZ 

  10. Who was the founder of socio-culture 
theory of cognitive development ? 
(1) Jean Piaget  (2) Jerom Bruner 
(3) Lev Vygotsky(4) Kohlberg 

11. fu Eu fyf [k r e sa ls d kS u-lh O ;f Dr Ro ek iu 
d h  ç{ks ih çfo f/k  u gh au gh au gh au gh a   gS \ 
(1) 'k Cn lk gp ;Z ijh {k. k 
(2) o q MoF kZ d k  O ;fDr xr nÙ k  i = 
(3) o kD; iw fr Z ijh{k .k  
(4) f p= d F kku d  ijh{k . k 

  11. Which of the following is not the 
type of projective technique of 
personality measurement ? 
(1) Word Association Test 
(2) Woodworth's Personal Data Sheet 
(3) Sentence Completion Test 
(4) Thematic Apperception Test 
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12. fu Eu fyf [k r esa l s d k S u-l k d S Vy }k jk 
çfr ik fnr O; fD rR o d s xR; k Re d  fo'ks "k d  dk 
çd kj u ghau ghau ghau gha  gS \ 
(1) v f H ko `f Ù k (2) r ho z bPN k 
(3) LF k k; h H kko (4) : f<+ o knh  

  
12. Which of the following is not the 

type of dynamic trait of personality 
given by Cattell ? 

(1) Attitude (2) Urge 

(3) Sentiment (4) Conservative 

13. fd l v k; q o xZ ds f y, c ky d  çla xcks/k 
ijh{k.k ¼lh,Vh½ ykxw gks ldrk gS \ 
 

(1) 2 ls 5 o" kZ (2) 0 ls 4 o "kZ 

(3) 16 ls 18 o "kZ (4) 3 ls 10 o"k Z 

  13. For which age group the Children 
Apperception Test (CAT) is 
applicable ? 

(1) 2 to 5 yrs. (2) 0 to 4 yrs. 

(3) 16 to 18 yrs. (4) 3 to 10 yrs. 

14. fu Eu fyf [k r es a l s d kS u-lh  f d 'kks jk oLF k k d h 
fo'ks " krk  u ghau ghau ghau gha   gS \ 
(1) e k¡ lis f'k ;k s a d k  H kk j d q y  'kjhj d s H k kj 

d k  20% gk s rk  gSA  
(2) f no kLo Iu  ns [ ku s d h ço ` fÙ k  c <+ r h gSA  

 
(3) 'k Cnd ks'k c< + tkr k gSA     
(4) e ku fld  ; ks X ;r k;s a v iuh  pje l hek 

ij i gq ¡ p tkr h gSa A 

  14. Which of the following is not the 
characteristic of Adolescence ? 

(1) Weight of muscles is 20% of 
total weight of body. 

(2) Tendency of day dreams 
increased. 

(3) Vocabulary too increases. 

(4) Mental abilities reach at their 
highest level. 

15. fu Eu fyf [k r e sa l s d kS u-lh v fH k çs j. k d h 
v lR ;v lR ;v lR ;v lR ;  fo'ks "k rk  gS \ 
(1) v f H kçs j. k  e s a O ;f Dr d k O;o gkj 

y {;k sU eq [ kh gks r k gSA 
(2) v f H kçs fjr O; ogkj fu jar jrk  d jr k gSA 

 
(3) v f H kçs fjr O; ogkj d h çÑ fr d B ks j 

gks r h gSA     
(4) v f H kçs j. k k e uq " ; esa Åt kZ if jo rZ u  

d jr h gSA  

  15. Which of the following is the false 
characteristic of motivation ? 

(1) In motivation, behaviour of 
person is goal oriented. 

(2) Motivated behaviour does 
continuity. 

(3) Nature of motivated behaviour is 
rigid. 

(4) Motivation does energy changes 
in human beings. 

16. LV s uQ k s MZ&fc us c q f) yf C/k Ld s y d s v uq l kj 
U; w u e ku fld  ea nrk  o kys c ky d ks a d h 
c q f) yf C/k lh ek  D;k  gk s rh gS \ 
(1) 52 ls 67 (2) 36 ls 51 
(3) 20 ls 35 (4) 20 ls uh ps 

  
16. According to Stanford-Binet IQ 

scale, what is the IQ range of low 
mentally retarded children ? 

(1) 52 to 67 (2) 36 to 51 
(3) 20 to 35 (4) below 20  
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17. [ ks y d s çR ;kf 'kr f l) ka r d s çf riknd  d kS u 
F ks \ 
(1) d k yZ xz w l 
(2) e S DM w xy  
(3) gcZ V Z Lis U lj     
(4) t h0  LV s uys gkW y 

  
17. Who was the propounder of 

Anticipatory theory of play ? 

(1) Karl Groos 

(2) McDougall 

(3) Herbert Spencer 

(4) G. Stanley Hall 

18. fu Eu fyf [k r es a l s d kSu-lk  , d  v knr ks a d h 
fo'ks " krk v ks a d s la nH kZ esa xy rxy rxy rxy r dF k u gS \ 
(1) v k nr fo f'k" V fLF k fr d s f y, Lo r% 

çfr fØ ; k gSA 
(2) v k nr o a'k ku q Ø e l s gk fl y  d h t krh  

gSA 
(3) v k nr vPN h rjg ls lh[ kk  çn'kZ u gSA     
(4) v k nr d s oy lek u ifjfLF k fr ;k ¡ gks us 

ij çnf 'kZ r gk s rh  gSA 

  18. Out of the following which one is 
the wrong statement in context of 
characteristics of habits ? 
(1) Habit is automatic response to 

specific situation. 
(2) Habit is acquired through 

heredity. 
(3) Habit is a well learned 

performance. 
(4) Habit is performed only under 

similar circumstances. 

19. fu Eu fyf [k r esa ls d kS u-lk fl) k Ur v f/k xe 
d s v Urj. k fl ) kUr ks a ls l Ecf U/kr u ghau ghau ghau gha            
gS \ 
(1) e ku fld  v uq'k kl u d k fl ) kUr 
(2) jV Ur Le `f r d k  f l) kU r 
(3) l eku  v o; o d k  f l) kUr 
(4) l kek U; hd j. k d k fl ) kUr 

  
19. Which of the following theory is not 

related with the theories of transfer 
of learning ? 
(1) Theory of mental discipline 
(2) Theory of rote memory 
(3) Theory of identical elements 
(4) Theory of generalisation 

20. fu Eu fyf [k r es a l s d kS u-l k F kk W uZ M kbd  ds 
lE cU/k ok n fl ) kUr d k v U; u ke  u gh au gh au gh au gh a  gS \ 
(1) m n~nh id  v u q fØ ; k fl) k Ur 
(2) v f /kxe d k c a/k fl) kUr 
(3) v u q ca f /kr v uq fØ ; k d k f l) kUr     
(4) ç;k l ,o a =q f V d k f l) kUr 

  20. Which of the following is not the 
other name of Thorndike's theory of 
Connectionism ? 
(1) Stimulus response theory 
(2) Bond theory of learning 
(3) Theory of conditioned response 
(4) Trial and Error theory  

21. fu Eu fyf [k r es a ls d kSu-lk v k/k q fu d 
e uks f oK ku  d k O;k ogk fjd  n` f "Vd ks . k gS \ 
(1) [kqys O;o gkj ij /;ku dsfUær djrk gSA 
(2) l a Kku kR ed  f Ø ;k v ks a ij / ;ku  d s fU ær 

d jr k gSA  
(3) t Sf od  ? kV ukv k sa ij d s fUær gSA     
(4) iq#"k iwokZ xz g dh vkykspuk ij dsfUær gSA 

  21. Which of the following is behavioural 
perspective of modern psychology ? 

(1) Focuses on overt behaviour. 
(2) Focuses on cognitive processes. 

 
(3) Focuses on the biological events.    
(4) Focuses on critique of male bias. 

PGTP
rim

e.c
om



 [ 7 ] [ A ] 

Level-3/317  P. T. O. 

22. fu Eu fyf [k r esa l s dk S u-lk , d  e w yço` fÙ k; ks a 
d h  f o'k s "kr kv ks a d s la nH kZ es a x yrx yrx yrx yr d F k u gS \ 
 
(1) e w yço` f Ù k tUe tkr gk sr h gSA  
(2) e w yço` f Ù k cgq r 'kf Dr'kk yh gks r h gSA 
(3) e w yço` f Ù k v Yid k fy d  gks r h gSA 
(4) e w yço` f Ù k e uk s'kkjhf jd  LoH kko gSA 

  
22. Out of the following which one is 

the wrong statement in context of 

characteristics of instincts ? 

(1) Instinct is innate. 

(2) Instinct is very powerful. 

(3) Instinct is ephemeral. 

(4) Instinct is psycho-physical 

disposition. 

23. fo pk j] fu . kZ ; ys u s] H kk "kk  v kS j v U; m Pp 
e kuf ld  çfØ ; k l s tq M+ h eku fld 
xfr fo f/k; ks a d k s d gk  tk rk  gS % 
 
(1) n`'; fp = 
(2) l a Kku 
(3) l a çR ;;  
(4) çLrk o/lk/;  

  
23. The mental activities associated with 

thought, decision making, language 

and other higher mental processes is 

called : 

(1) Visual images 

(2) Cognition 

(3) Concepts 

(4) Propositions 

24. fu Eu fyf [k r e sa l s d kSu-l k d F k u v lR;v lR;v lR;v lR;             
gS \ 

(1) v f /kxe ,d  çfØ ;k  gS u fd  m RiknA 
 

(2) v f /kxe çfØ ;k  lnS o mn~ns'; iw .k Z gks r h  
gSA 

(3) v f /kxe d k {ks =  O;k id  gks r k gSA 
(4) e w yço` f Ù k , o a çfr{ks i fØ ;kv ks a d s }k jk 

gks u s o ky s O; ogkj d s ifjo rZ u  H k h 
v f /kxe ek us tkr s gSa A 

  
24. Which of the following is the false 

statement ? 

(1) Learning is a process not a 

product. 

(2) Learning process is always 

purposeful. 

(3) Area of learning is broader. 

(4) Behaviour changes through 

instincts and reflex actions are 

also considered as learning. 

25. fu Eu fyf [k r esa ls d kS u-lk  t s0 ih 0  fxyQMZ 
}k jk çnÙ k cq f)  ds f =f of e; çk:i d s , d 
?k Vd  f o"k ;o Lrq d k  çd k j u gh au gh au gh au gh a  gS \ 
 
(1) v k Ñ fr d (2) ç. kk yh 
(3) l ka d s fr d (4) O ;k ogkf jd  

  
25. Which of the following is not the type 

of one of the component content 

under three dimensional model of 

intellect given by J. P. Guilford ? 

(1) Figural (2) System 
(3) Symbolic (4) Behavioural 
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26. fu Eu fyf [k r e s a ls d kSu-lk Le` fr d s r Ù o ks a 
d k  l ghl ghl ghl gh  r kf d Zd  Øe gS \ 
(1) v f /kxe → iq u % Le j. k → /k kj. k → 

igpku  
(2) iq u%  Le j. k  → v f/ kxe  → /k kj. k → 

igpku  
(3) v f /kxe → iq u% Le j. k  → igpk u → 

/k kj. k 
(4) v f /kxe → / kkj. k → iq u %  Lej. k → 

igpku  

  
26. Which of the following is the correct 

logical order of elements of memory ? 
(1) Learning → Recall → 

Retention → Recognition 
(2) Recall → Learning → 

Retention → Recognition 
(3) Learning → Recall → 

Recognition → Retention 
(4) Learning → Retention → 

Recall → Recognition 

27. l` t u'kh yr k d s ik s "k. k  , oa l a o) Z u  d s fy, 
e fLr" d  m }s yu  fo f/k  d k çf riknu fd lu s 
fd ;k  F k k \ 
(1) V kW js Ul (2) e k; lZ 
(3) v k W lcu Z (4) xkW M Z u 

  
27. Who propounded Brain storming 

method for fostering and boosting 

creativity ? 

(1) Torrance (2) Myres 

(3) Osborn (4) Gordon 

28. fu Eu fyf [k r e sa l s d kSu-lk nch  gq bZ 
H kk ou kR ed  Å tkZ d ks fud ky us d k lgh 
r jh d k u gh au gh au gh au gh a   gS \ 
(1) LF k ku kiUu çfr fØ ; k, ¡ 
(2) f oLF k kiu 
(3) çfr xe u     
(4) v k Re d #. kk 

  
28. Which one of the following is not 

correct way of releasing pent up 

emotional energy ? 
(1) Substitute responses 
(2) Displacement 
(3) Regression    
(4) Self pity 

29. fu Eu fyf [k r e s a l s eu  d k d k Su-lk  Lrj 
iw . kZ r; k lq [k ok nh  v kS j l q[k  çk fIr d s vuq 
fl ) kUr ks a }k jk  funs Z f'k r gks rk  gS \ 
(1) bne~ (2) v ge ~ 
(3) ijk v ge ~  (4) f iÙk  çÑ f r 

  
29. Which of the following structure of 

mind directed according to 

Hedonistic and pleasure principle ? 

(1) Id (2) Ego 

(3) Super Ego (4) Choleric 

30. e uks f o'y s "k. kk Re d  f of/k ds tu d  dkS u  Fk s \ 
 
(1) t s0  ch0  ok Vl u 
(2) f oYgs Ye o q .V 
(3) f lxe. M Ý k ;M  
(4) t s0  ,e0  dS V y 

  
30. Who was the propounder of psycho- 

analytical method ? 

(1) J. B. Watson 

(2) Wilhelm Wundt 

(3) Sigmund Freud 

(4) J. M. Cattell 
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HkkxHkkxHkkxHkkx – II (PART – II) 
Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ [LANGUAGES (HINDI & ENGLISH)] 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    

31. dkSu-lk okD; laca/klwpd  vO;; dk 
mnkgj.k gS \ 
(1) bruk [kk fy;k] bls dSls ipkvksxsA 
(2) 'khyk ds leku dksbZ vkylh ugha gSA 
(3) eSaus i;kZIr i<+ fy;k gS] vc FkksM+k 

vkjke d:¡xkA 
(4) t+jk lksp-le>dj cksfy,A 

32. vuqfprvuqfprvuqfprvuqfpr foykse 'kCn ;qXe ;qDr fodYi 
igpkfu, % 
(1) fof/k − fu"ks/k 
(2) [ky − lTtu 
(3) vej − eR;Z 
(4) oSj − Øks/k 

33. ^fpduk eq¡g isV [kkyh* yksdksfDr dk lgh 
vFkZ gS % 
(1) vius gkFk ls nku nsuk 
(2) ns[kus esa lq[kh Hkhrj ls nq%[kh 
(3) vR;f/kd I;kjk gksuk 
(4) t+cjnLrh xys iM+uk 

34. fuEu esa ls lghlghlghlgh laf/k ;qDr 'kCn dkSu-lk  
gS \ 
(1) ;qf/k + fLFkj = ;qf/kf"Bj 
(2) xq# + mins'k = xqjksins'k 
(3) vfHk + bIlk = vfHkIlk 
(4) xfr + vojks/k = xR;kojks/k 

35. fuEufyf[kr o.kks± ds lanHkZ esa dkSu-lk 
fodYi vlaxrvlaxrvlaxrvlaxr  gS \ 
(1) ; − rkyO;] vYiçk.k] ?kks"k 
(2) b − rkyO;] ÐLo] vo`Ùkeq[kh 
(3) c − vks"B~;] ?kks"k] vYiçk.k 
(4) "k − ew/kZU;] vYiçk.k] v?kks"k 

36. çR;; dh n`f"V ls vlqesfyrvlqesfyrvlqesfyrvlqesfyr fodYi dk 
p;u dhft, % 
(1) Hkkfxus; = Hkfxuh + ; 

(2) ok/kZD; = o/kZd + ; 

(3) ,s'o;Z = bZ'oj + ; 

(4) oSf'k"V~; = fof'k"V + ; 

37. milxZ ls fufeZr 'kCnksa ds lanHkZ esa dkSu-lk 
fodYi vlaxrvlaxrvlaxrvlaxr gS \ 

(1) ifj − i;±d] ikfjHkkf"kd] i;qZ"k.k 

(2) vfr − vR;qfDr] vrhr] vR;ko';d 

(3) vu − vulw;k] vuf/kdkj] vu'ku 

(4) çfr − çR;iZ.k] çrh{kk] çrhd 

38. 'kCn-çÑfr dh ǹf"V ls vlaxrvlaxrvlaxrvlaxr  ;qXe pqfu, % 

(1) xksLokeh − rRle 'kCn 

(2) eqdn~nek − ns'kt 'kCn 

(3) ia[k − rn~Hko 'kCn 

(4) rglhynkj − ladj 'kCn 
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39. lekl-foxzg dh n`f"V ls dkSu-lk fodYi 
vlaxrvlaxrvlaxrvlaxr gS \ 

(1) 'kqHkadj − 'kqHk dks djus okyk 

(2) jleykbZ − jl esa Mwch gqbZ eykbZ 

(3) uo;qod − ukS ;qodksa dk lewg 

(4) 'kk[kke`x − 'kk[kkvksa ij jgus/nkSM+us 
     okyk e`x 

40. fuEu esa ls vlaxrvlaxrvlaxrvlaxr fodYi igpkfu, % 

(1) lkrR; − vO;; ls fufeZr Hkkookpd  

laKk 

(2) futrk − loZuke ls fufeZr Hkkookpd  

laKk 

(3) jksfx.kh − Hkkookpd laKk ls fufeZr  

fo'ks"k.k 

(4) 'kfDr'kkyh − fo'ks"k.k ls fufeZr 

 Hkkookpd laKk 

41. vFkZ dh n`f"V ls dkSu-lk eqgkojk laxr ughaughaughaugha 
gS \ 

(1) [k+;kyh iqyko idkuk − O;FkZ dh ckrsa  

djuk 

(2) viuk-lk eq¡g ysdj jg tkuk −  

vlQy gksus ij yfTtr gksuk 

(3) v¡/ksjs ?kj dk mtkyk − ,dek= lgkjk 

(4) Å¡V dk lwbZ dh uksd ls fudyuk −  

'kfDr'kkyh dk detksj gksuk 

42. ^lfpu fØdsV [ksyrk gSA* mDr okD; dks 
deZokP; esa cnfy, % 

(1) lfpu fØdsV [ksysxkA 

(2) lfpu fØdsV ugha [ksyrk gSA 

(3) lfpu ls fØdsV [ksyk tkrk FkkA 

(4) lfpu ds }kjk fØdsV [ksyk tkrk gSA 

43. fuEu esa ls fdl fodYi dh lHkh fØ;k,¡ 
^vdeZd* gSa \ 

(1) pyuk] eqLdjkuk] f[kyuk 

(2) nkSM+uk] :Buk] fy[kuk 

(3) g¡luk] [kkuk] lksuk 

(4) jksuk] mBuk] dkVuk 

44. okD; ds lanHkZ esa dkSu-lk fodYi lqesfyr 
ughaughaughaugha  gS \ 
(1) nq"V ! rq>s f/kDdkj gSA  

− foLe;kfncks/kd okD; 
(2) eSusa ek¡ dk dguk ugha ekukA  

− fu"ks/kcks/kd okD; 
(3) gks ldrk gS og vkt 'kke dks vk,A  

− bPNkcks/kd okD; 
(4) le; ij Hkkstu djksxs rks LoLFk jgksxsA  

− ladsrkFkZd okD; 

45. ^nknqj] Hksd] 'kkyqj* 'kCn fdlds i;kZ;okph 
gSa \ 

(1) gkFkh (2) cUnj 

(3) esa<d (4) flag 
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vaxzsthvaxzsthvaxzsthvaxzsth (ENGLISH) 

Direction : Answer the following questions by selecting the most appropriate option. 

46. Choose the correct option : 

Transformation from Simple 
sentence to Complex sentence : 

A lost moment is lost forever. 

(1) A moment which is lost is lost 
forever. 

(2) A lost moment is forever lost. 

(3) Forever a lost moment is lost. 

(4) No moment is lost forever. 

47. Choose the correct option : 

Transformation of sentences : Simple 
to Compound 

He must work hard to make up for 
the lost time. 

(1) He must work hard, cover the 
lost time. 

(2) Making up for the lost time he 
must work hard. 

(3) He must work hard and make up 
for the lost time. 

(4) Working hard will make up for 
the lost time. 

48. Select the correct conjunctions for 
the blanks : 

We will come …….. it rains …… 
not. 

(1) if, and (2) even, but 

(3) whether, or (4) either, and 

49. Choose one word substitution for the 
following : 
A word spelt and pronounced similar 
but differing in meaning. 
(1) Antonym (2) Homonym 
(3) Synonym (4) Pseudonym 

50. Change the following sentences into 
Reported Speech by choosing the 
correct option. 

"If you want to smoke you'll have to 
go upstairs." said the landlord. 

(1) The landlord told him that if he 
wants to smoke he'll have to go 
upstairs. 

(2) The landlord told him that if he 
wanted to smoke he would have 
to go upstairs. 

(3) The landlord said that if he 
would want to smoke he would 
go upstairs. 

(4) The landlord says if you wanted 
to smoke you would have to go 
upstairs. 

51. Change the following sentences into 
Reported Speech by choosing the 
correct option : 

"We're waiting for the school bus," 
said the children, "It's late again." 

(1) The children told they're waiting 
for the school bus and it is late. 

(2) The children said they were 
waiting for the school bus and it 
is late. 

(3) The children complained that 
they were waiting for the school 
bus and it was late again. 

(4) The children complained that 
they were waiting for the school 
bus and it is late. 

PGTP
rim

e.c
om



[ A ] [ 12 ] 

Level-3/317   

52. Change the voice from Active to 
Passive. Choose the right option : 

We shall discuss the question 
tomorrow in the meeting. 

(1) The question will be discussed 
tomorrow in the meeting. 

(2) We will be discussing the 
question tomorrow in the 
meeting. 

(3) We shall be discussing tomorrow 
the question in the meeting. 

(4) The question shall discuss 
tomorrow in the meeting. 

53. Choose the option which has error in 
it : 

(A) You should  

(B) tell to me       

(C) exactly what     

(D) happened there 

(1) A (2) B 

(3) C (4) D 

54. Select the correct preposition to fill 
in the blank : 

They live …….. the same roof. 

(1) in  

(2) before 

(3) after  

(4) under 

55. Select the correct meaning of the 
underlined phrasal verbs : 
I cannot make out the meaning of 
this verse. 
(1) discovery  
(2) understand 
(3) reading  
(4) start 

56. Choose the correct form of tense 
given in the option : 
She (play) the sitar since 6 o'clock 
this morning. He just (stop). 
(1) playing, stops  
(2) was played, stopping 
(3) has been playing, has just 

stopped  
(4) have been playing, stopped 

57. Choose the correct meaning of the 
underlined idiom : 
He is friendly to the minister, he 
jumped the queue and got promotion. 
(1) replace something 
(2) hopping 
(3) blame somebody 
(4) get something out of turn 

58. Select the correct preposition to fill 
in the blank : 
He broke the jug ….... a hundred 
pieces. 
(1) in (2) into 
(3) over (4) about 

59. Select the correct infinitive form of 
the given sentence : 
Seeing is believing. 
(1) To see is to believe. 
(2) Seen is to believe. 
(3) To see is believing. 
(4) Seeing is to believe. 

60. Select the correct tense form : 

The car (belong) to my mother. She 
(use) it today to take Tom to the 
dentist. 

(1) belonged, is using 

(2) belonged, using 

(3) belong, used  

(4) belongs, is using 
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HkkxHkkxHkkxHkkx – III (PART – III) 
lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u (GENERAL STUDIES) 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku (QUANTITATIVE APTITUDE, 
REASONING ABILITY AND G. K. & AWARENESS) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr iz'uksa ds mÙkj nsus ds fy,    lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A    
Direction :  Answer the following questions by selecting the most appropriate option. 

61. fdlh fuf'pr dwV esa MONKEY dks 
XDJMNL fy[kk tk,] rks TIGER dks 
dSls fy[kk tk,xk \ 
(1) SDFHS (2) SHFDQ 
(3) QDFHS (4) UJHFS 

  61. In a certain code MONKEY is 
written as XDJMNL. How is TIGER 
written in that code ? 
(1) SDFHS (2) SHFDQ 
(3) QDFHS (4) UJHFS 

62. ;fn fdlh fuf'pr iSVuZ esa 9 * 3 = 36, 
10 * 6 = 64, 9 * 1 = 25, rks mlh iSVuZ 
ij 23 * 3 dk eku D;k gksxk \ 
(1) 169 (2) 52 
(3) 32 (4) 576 

  62. In a certain pattern, if 9 * 3 = 36,       
10 * 6 = 64, 9 * 1 = 25, then in same 
pattern what is the value of 23 * 3 ? 
(1) 169 (2) 52 
(3) 32 (4) 576 

63. ;fn 1988 esa 15 vxLr cq/kokj dks euk;k 
x;k Fkk] rks ;g 1989 esa fdl fnu euk;k 
x;k Fkk \ 
(1) lkseokj (2) eaxyokj 
(3) xq#okj (4) 'kqØokj 

  63. If the Independence Day in 1988 was 
celebrated on Wednesday. On what 
day was it celebrated in the year 1989 ? 
(1) Monday (2) Tuesday 
(3) Thursday (4) Friday 

64. fot; mÙkj dh vksj 10 fdeh pyrk gS 
ogk¡ ls 6 fdeh nf{k.k dh vksj pyrk gS 
mlds i'pkr~ 3 fdeh iwoZ dh vksj pyrk 
gSA vc og vius vkjfEHkd fcUnq ls 
fdruk fdeh rFkk fdl fn'kk esa gS \ 
(1) 5 fdeh if'pe (2) 5 fdeh mÙkj-iwoZ 
(3) 7 fdeh iwoZ (4) 7 fdeh if'pe 

  64. Vijay walks 10 km towards North, 
from there, he walks 6 km towards 
South, then he walks 3 km towards 
East. How far and in which direction 
is he with reference to his starting 
point ? 
(1) 5 km West (2) 5 km North-East 
(3) 7 km East (4) 7 km West 

65. ik¡p fHkUu-fHkUu ?kj A ls E, ,d iafDr esa 
fLFkr gSaA A, B ds nk;ha vksj gS vkSj E, C 
ds ck;ha vksj gS rFkk A ds nk;ha vksj gSA 
B, D ds nk;ha vksj gSA dkSu-lk ?kj ,dne 
e/; esa gS \ 
(1) A (2) B 

(3) D (4) E 

  65. There are five different houses A to 
E in a row. A is to the right of B and 
E is to the left of C and right of A. B 
is to the right of D. Which of the 
house is exactly in the middle ? 
(1) A (2) B 

(3) D (4) E 
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66. yM+fd;ksa dh ,d iafDr esa f'kYik dk LFkku 
ck;sa ls 8ok¡ gS vkSj jhuk dk LFkku nk;sa ls 
17ok¡ gS ;fn os viuk LFkku vny-cny nsa 
rks f'kYik ck;sa ls 14osa LFkku ij gks tkrh 
gSA iafDr esa dqy fdruh yM+fd;k¡ gSa \ 
(1) 27 (2) 29 
(3) 32 (4) 30 

  66. In a row of girls, Shilpa is 8th from 
the left and Reena is 17th from the 
right, if they interchange their 
positions, Shilpa becomes 14th from 
the left. How many girls are there in 
a row ?  
(1) 27 (2) 29 
(3) 32 (4) 30 

67. 3313.06734.0 +  leku gksxk % 
(1) 0.48 (2) 0148.0  
(3) 48.0  (4) 84.0  

  67. 3313.06734.0 +  is equal to : 
(1) 0.48 (2) 0148.0  
(3) 48.0  (4) 84.0  

68. la[;k Ük`a[kyk dk vxyk in Kkr dhft, % 
127,  128,  136,  163,  227, …… 

(1) 352 (2) 350 
(3) 357 (4) 341 

  68. Find the next term of the number 
series : 
127,  128,  136,  163,  227, …… 
(1) 352 (2) 350 
(3) 357 (4) 341 

69. ;fn A dk vFkZ ^tksM+*] B dk vFkZ 
^?kVko*] C dk vFkZ ^Hkkftr*] D dk vFkZ 
^xq.ku* gks] rks fuEufyf[kr dk ljy eku 
D;k gksxk \ 
18  A  12  C  6  D  2  B  5  = 
(1) 25 (2) 27 
(3) 15 (4) 17 

  69. If A means 'plus', B means 'minus', 
C means 'divide by', D means 
'multiply'. Then what will be 
simplified value of  
18  A  12  C  6  D  2  B  5  = ? 
(1) 25 (2) 27 
(3) 15 (4) 17 

70. uhps nh xbZ v{kj Ükà[kyk esa NwVs gq, v{kjksa 
dks Kkr dhft, % 

a − cdaab − cc − daa − bbb − ccddd 
(1) bdbda (2) bddca 
(3) dbbca (4) bbdac 

  70. Find the missing letters in the given 
letter series : 

a − cdaab − cc − daa − bbb − ccddd 
(1) bdbda (2) bddca 
(3) dbbca (4) bbdac 

71. fdlh oxZ ds vUr%o`Ùk vkSj cfgo`ZÙk ds 
{ks=Qy dk vuqikr gksxk % 
(1) 1 : 4 (2) 4 : 1 

(3) 1 : 2 (4) 2 : 1 

  71. The ratio of the areas of the incircle 
and circumcircle of a square will be : 
(1) 1 : 4 (2) 4 : 1 

(3) 1 : 2 (4) 2 : 1    

72. 11, 11.11, 0.11, 0.011 dk e0l0i0 
D;k  gksxk \ 
(1) 0.011

 
(2) 1.1 

(3) 0.11
 

(4) 0.111 

  72. What is the HCF of 11, 11.11, 0.11, 
0.011 ? 
(1) 0.011

 
(2) 1.1 

(3) 0.11
 

(4) 0.111 
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73. fuEufyf[kr ç'u esa la[;k,¡ fdlh fuf'pr 
iSVuZ ij iafDrokj vFkok LrEHkokj fy[kh 
gqbZ gSaA ml iSVuZ dks igpkfu, vkSj NwVh 
gqbZ la[;k ¼ç'uokpd fpg~u½ Kkr dhft, % 
 

6 11 25 

8 6 16 

12 5 ? 

(1) 18 (2) 16 
(3) 12 (4) 10 

  73. The numbers in the following question 
numbers are written according to 
certain pattern row-wise or column-
wise. Identify the pattern and find 
the missing character accordingly : 

6 11 25 

8 6 16 

12 5 ? 

(1) 18 (2) 16 
(3) 12 (4) 10 

74. nks jsyxkfM+;k¡ 132 ehVj ,oa 108 ehVj 
yEch ,d-nwljs ls fo#) fn'kk esa vk jgh 
gSa ftlesa ls ,d dh pky 32 fdeh/?k.Vk 
rFkk nwljh dh 40 fdeh/?k.Vk gSA fdrus 
le; esa os ,d-nwljs dks ikj dj tk;saxh \ 
 

(1) 8 ls0 (2) 10 ls0 
(3) 12 ls0 (4) 11 ls0 

  
74. Two trains 132 meters and 108 

meters long are running in opposite 

direction, one at the speed of 32 

km/hr and another at the speed of 40 

km/hr. In what time will they cross 

each other ? 

(1) 8 sec. (2) 10 sec. 
(3) 12 sec. (4) 11 sec. 

75. ;fn 7 c<+bZ 7 dqflZ;ksa dks 8 ?k.Vs esa cuk 
ldrs gSa rks] 70 c<+bZ 70 dqflZ;ksa dks cukus 
esa fdrus ?k.Vs yxk;saxs \ 
(1) 8 ?k.Vs  

(2) 560 ?k.Vs 
(3) 56 ?k.Vs  

(4) 70 ?k.Vs 

  
75. If 7 carpenters can make 7 chairs in 

8 hours, how many hours will 70 
carpenters take to make 70 chairs ? 
(1) 8 hours  

(2) 560 hours 
(3) 56 hours  

(4) 70 hours 

76. fdlh oLrq dk ewY; 20% c<+ tkrk gS] rks 
crkb, fdlh miHkksDrk }kjk vius miHkksx 
esa fdrus çfr'kr dh deh dj nh tk, fd 
mlds [kpsZ esa dksbZ o`f) ugha gks \ 
 

(1) 16
3

2
% (2) 15

3

2
% 

(3) 17
3

2
% (4) 16

3

1
% 

  76. The price of any item is increased by 
20%. Find the reduction in the 
consumption of the item by a 
consumer so that there is no increase 
on his expenditure : 

(1) 16
3

2
% (2) 15

3

2
% 

(3) 17
3

2
% (4) 16

3

1
% 
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77. 22222  dk eku D;k gksxk \ 
(1) 0  (2) 2 
(3) 1 (4) 32/31

2  

  
77. What is the value of 22222 ?  

(1) 0  (2) 2 
(3) 1 (4) 32/31

2  

78. ` 10,000 pØo`f) C;kt ds :i esa 5 o"kZ 
esa nqxqus gks tkrs gSa] rks 20 o"kZ i'pkr~ 
mlh pØo`f) C;kt dh nj ls ;g /ku 
fdruk gks tk,xk \ 
(1) ` 40,000  (2) ` 60,000  
(3) ` 80,000  (4) ` 1,60,000  

  
78. A sum of ` 10,000 deposited at 

compound interest becomes double 
after 5 years. After 20 years the 
amount will be : 
(1) ` 40,000  (2) ` 60,000  
(3) ` 80,000  (4) ` 1,60,000 

79. A us B dks ?kM+h 10% ykHk ls csp nh vkSj B 
us bls C dks 10% gkfu ls csp nhA ;fn C us 
?kM+h dk ewY; ` 990 pqdk;k gks] rks crkb, A 
us ml ?kM+h dks fdrus esa [kjhnk Fkk \ 
(1) ` 900  (2) ` 1,000  
(3) ` 1,200  (4) ` 950  

  79. A sold a watch to B at a gain of 10% 
and B sold it to C at a loss of 10%. If 
C paid ` 990 for it, then how much 
amount paid by A ? 
(1) ` 900  (2) ` 1,000  
(3) ` 1,200  (4) ` 950 

80. 2 : 5 vuqikr okyh çR;sd la[;k esa dkSu-lh 
la[;k tksM+h tk, fd çkIr la[;kvksa dk 
vuqikr  5 : 6 gks tk, \ 

(1) 12 (2) 11 
(3) 13 (4) 14 

  80. Which number must be added to 
each term of the ratio 2 : 5, so that it 
may equal to 5 : 6 ? 

(1) 12 (2) 11 
(3) 13 (4) 14 

81. ^gfjçHkk* ekfld if=dk dk çdk'ku fd;k 
tkrk gS % 
(1) lwpuk ,oa tulEidZ foHkkx }kjk  
(2) gfj;k.kk lkfgR; vdkneh }kjk 
(3) gfj;k.kk laLÑr vdkneh }kjk 
(4) gfj;k.kk fganh xzaFk vdkneh }kjk 

  81. Monthly magazine 'Hariprabha' is 
published by : 

(1) Information and Public Relations 
Department 

(2) Haryana Sahitya Academy 

(3) Haryana Sanskrit Academy 

(4) Haryana Hindi Granth Academy 

82. 

 

fuEufyf[kr esa ls dkSu 2021 esa ^in~e 
Hkw"k.k* çkIrdrkZ gSa \ 
(1) t; Hkxoku xks;y 
(2) ohjsUæ flag 
(3) rjykspu flag 
(4) eqds'k flag 

  
82. 

 

Who among the following is the 
recipient of 'Padma Bhushan' in  2021 ? 

(1) Jai Bhagwan Goyal 

(2) Virendra Singh 

(3) Tarlochan Singh 

(4) Mukesh Singh 
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83. xzUFk/xzUFkksa dks fpfUgr dhft,] ftlesa/ftuesa 
Fkkuslj dk mYys[k feyrk gS % 
(i) g"kZpfjr  
(ii) ;qoku pkax dk ;k=k o`ÙkkUÙk 
(iii) dknEcjh 
(iv) diwZj eatjh 
lghlghlghlgh  dwV dk p;u dhft, % 
(1) dsoy (i)  
(2) (i) vkSj (ii) 
(3) (i), (ii) vkSj (iii) 
(4) (i), (ii), (iii) vkSj (iv) 

  83. Identify the text/texts, in which the 
reference of Thanesar is found : 
(i) Harshcharit 
(ii) Travelogue of Yuvan Chang 
(iii) Kadambari 
(iv) Karpur Manjari 

Choose the correct code : 

(1) Only (i)  
(2) (i) and (ii) 
(3) (i), (ii) and (iii) 

(4) (i), (ii), (iii) and (iv) 

84. fuEufyf[kr esa ls fdl unh dk mn~xe 
LFky vlaxrvlaxrvlaxrvlaxr  gS \ 
    unhunhunhunh        mn~xe LFkymn~xe LFkymn~xe LFkymn~xe LFky        
(1) ljLorh − Mkaxw'kbZ 
(2) bUnkSjh − esokr dh igkfM+;k¡ 
(3) ekjd.Mk − f'kokfyd dh igkfM+;k¡ 
(4) VkaxM+h − eksjuh dh igkfM+;k¡ 

  84. Origin of the which of the following 
rivers is not correctly matched ? 

    River        Origin Site    
(1) Saraswati − Dangushai 
(2) Indori − Mewat hills 
(3) Markanda − Sivalik hills 
(4) Tangdi − Morni hills 

85. fuEufyf[kr esa ls fdlus iatkc ,oa 
gfj;k.kk mPp U;k;ky; ds eq[; U;k;k/kh'k 
ds :i esa dk;Z ughaughaughaugha  fd;k \ 
(1) tfLVl eqdqan eqn~xy 
(2) tfLVl ,0 ds0 lhdjh 
(3) tfLVl ,e0 ,l0 tSu 
(4) tfLVl lat; fd'ku dkSy 

  85. Who among the following did not 
serve as the Chief Justice of the 
Punjab and Haryana High Court ? 

(1) Justice Mukund Mudgal 

(2) Justice A. K. Sikri 

(3) Justice M. S. Jain 

(4) Justice Sanjay Kishan Kaul 

86. ^çk.kok;q nsork isa'ku Ldhe* yf{kr gS % 
(1) gfj;k.kk jkT; esa iqjkus isM+ksa dks 

lajf{kr djus gsrq 
(2) xSj-ljdkjh fpfdRldksa dks mudh 

o`)koLFkk esa foÙkh; lgk;rk çnku 
djus gsrq 

(3) xSj-ljdkjh iSjkesfMdy dfeZ;ksa dks 
mudh o`)koLFkk esa vkfFkZd jkgr çnku 
djus gsrq 

(4) 'kgjh ?kjksa esa rqylh ,oa fxyks; ds 
jksi.k dks çksRlkfgr djus gsrq 

  86. 'Pran Vayu Devata Pension Scheme' 
is aimed to : 
(1) Conserve older trees in Haryana 

State 
(2) Provide financial assistance to 

the non-government doctors in 
their old age 

(3) Provide economic relief to the 
non-government paramedical 
staff in their old age 

(4) Encourage plantation of Tulsi 
and Giloya in urban households 
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87. fuEufyf[kr gfj;k.kk ds jkT;ikyksa esa ls 
fdldk fu/ku in ij jgrs gq, gqvk \ 
(1) ch0 ,u0 pØorhZ 
(2) j.kthr flag u:yk 
(3) ts0 ,y0 gkFkh 
(4) ljnkj ,p0 ,l0 cjkj 

  
87. Who among the following Governors 

of Haryana died while in the office ? 

(1) B. N. Chakraborty 

(2) Ranjit Singh Narula 

(3) J. L. Hathi 

(4) Sardar H. S. Brar 

88. fnYyh-eqEcbZ vkS|ksfxd dkWfjMksj ds varxZr 
gfj;k.kk esa çLrkfor fuos'k {ks=/vkS|ksfxd 
{ks= esa ls v/kksfyf[kr esa ls dkSu-lk xyrxyrxyrxyr 
gS \ 
(1) Qjhnkckn − iyoy vkS|ksfxd {ks= 

 
(2) jsokM+h  − fglkj fuos'k {ks= 

 
(3) dq.Myh − lksuhir fuos'k {ks=  

 
(4) ekuslj − ckoy fuos'k {ks= 

  88. Which of the following is not true 
about the proposed investment region/ 
industrial area under Delhi-Mumbai 
industrial corridor in Haryana ? 
(1) Faridabad − Palwal Industrial  

         area 
(2) Rewari − Hisar  investment 

       region 
(3) Kundli − Sonipat investment 

         region 
(4) Manesar − Bawal investment 

        region 

89. gfj;k.kk yksd lsok vk;ksx vius fd, x, 
dk;Z ds ckjs esa okf"kZd çfrosnu ----------- 
dks çLrqr djrk gSA 
(1) jkT;iky 
(2) jk"Vªifr 
(3) laln 
(4) jkT; fo/kku lHkk 

  
89. The Haryana Public Service 

Commission presents its annual 
report of the work done by the 
commission to the : 

(1) Governor 

(2) President 

(3) Parliament 

(4) State Legislative Assembly 

90. gfj;k.kk ds f[kykfM+;ksa }kjk VksD;ks iSjkyafid 
2021 esa thrs x, dqy ind gSa % 
 
(1) 04 (2) 06 
(3) 08 (4) 19 

  
90. The total number of medals won by 

the athletes of Haryana in the Tokyo 
Paralympics 2021 are : 

(1) 04 (2) 06 
(3) 08 (4) 19 
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Hkk xHkk xHkk xHkk x     – IV (PART – IV) 
th ofoKk uth ofoKk uth ofoKk uth ofoKk u     (BIOLOGY) 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %     f uEu fy f[ kr iz'uk s a d s m Ù kj ns us d s f y,     l c ls m fpr  l c ls m fpr  l c ls m fpr  l c ls m fpr  f od Yi pq f u,A 
Direction : Answer the following questions by selecting the most appropriate option. 

91. V s LVk s LVs jkW u  m RiUu  gks r k gS % 
(1) , fl uj d ks f'k d kv k sa l s  
(2) xz kf Q ;u  iq fV d k v ksa ls  
(3) y S fMx d ks f 'k d kv ks a l s  
(4) f giS fV d  d ks f 'kd k v ksa ls  

  91. Testosterone is produced by :  

(1) Aciner cells  

(2) Graffian follicles  

(3) Leydig cells  

(4) Hepatic cells  

92. x yrx yrx yrx yr d F k u pq f u, % 
(1) f o"k e; q Xeh  fd lh xq . k d s fo i; kZ lh  

fo'ks"kdksa ds ,d ;qXe dks iznf'kZr djrs gSaA 
(2) e ku o es a XO-xq .k lw = h; v f u; fer rk  

M km u fla M ª kse  d k d kj. k gSA  
 

(3) f ol a; ks t u d k fu ;e bl rF ; ij 
f uH kZ j gS fd  ; q Xef od Yih ;k s a e s a fd lh H kh 
iz d kj d k lf EeJ .k  ugha gk srk A  

(4) ghe ks Q h fy; k ,d  f ya x lgyXu  v izH kk oh 
jks x gSA  

  92. Select incorrect statement : 
(1) Heterozygous represents a pair 

of contrasting traits of a character.   
(2) XO-chromosomal abnormalities 

in human being caused Down's 
syndrome. 

(3) Law of segregation is based on 
the fact that alleles do not show 
any blending.  

(4) Hemophilia a is sex linked 
recessive disease.  

93. , d  tk s M+ h  m Rlth Z v a x-H kw jh d hi f d lh , d 
le w g ls la c a f/k r gS %  
(1) ; w jk s d kWM s Z Vk 
(2) f lQ s yk sd kW Ms Z Vk 
(3) gs eh d kW Ms Z Vk 
(4) e S es f y;k 

  93. Single pair excretory organ brown 
funnels are associated with the group : 

(1) Urochordata  
(2) Cephalochordata  
(3) Hemichordata 
(4) Mammalia 

94. c ká Ro ph ; 'kYd  ik, t kr s gS a % 
(1) Ld k fyv k s Mks u es a (2) [ kjxks'k e s a  
(3) d c w rj es a  (4) e s a <d  e sa  

  94. Epidermal scales are present in :  
(1) Scoliodon (2) Rabbit  
(3) Pigeon  (4) Frog  

95. fu Eu fyf [k r d F ku ks a e s a l s lk nu Z C ykW f Va x dh 
?k Vu kv ks a d k l ghl ghl ghl gh  Ø e fu/kk Zfjr d hf t, %  
 
(A) f >Yyh  ij ifjo gu A 
(B) ukekafd r laijh{kd ¼izks c½ Ükà[kyk ds 

lkFk lad j.kA  
(C) DNA [k a M d k oS | q rd . k la p yu }k jk 

i`F kDd j. kA  

  95. Determine correct sequence of 
events in Southern Blotting from 
following statements : 
(A) Transport to a membrane.  
(B) Hybridization with a labelled 

probe sequence.  
(C) Separation of DNA fragments by 

electro-phoresis.  
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l ghl ghl ghl gh  Øe  gS % 
(1) (A), (B), (C)  
(2) (B), (C), (A) 
(3) (C), (A), (B)  

(4) (C), (B), (A) 

Correct sequence is :  

(1) (A), (B), (C)  
(2) (B), (C), (A) 
(3) (C), (A), (B) 

(4) (C), (B), (A) 

96. d 'ks : fd ; ks a es a fu Eu e sa ls d k S u-lk 
iz d k'k xz kgh  u gh au gh au gh au gh a  gS \ 
(1) l k, uks f Ilu   (2) Dyk s jks Øwv ks f ju 
(3) v k bM ks f Ilu   (4) ik sjQ k bjk s fI lu 

  96. Which one of the following is not a 
photoreceptor in vertebrate ?   

(1) Cyanopsin  (2) Chlorocruorin  

(3) Idopsin  (4) Porphyropsin 

97. H kw-o S Kk fud  d k y d s lUnH kZ e s a f uEu  es a ls 
d k S u-lk @d kS u-ls Ø e  lghlghlghlgh   gS@gS a \ 
 
(A) V ª kb, fld  → tw jsf ld  → fØ V s f'k; l 

(B) iSfyvkstks bd → ehlks tksbd → 
lhukstksbd 

(C) f Mo ks fu ;u  → fl Y;w fj; u → 
d k ck s Z fuQ s jl 

l ghl ghl ghl gh   fo dYi gS@gS a %  
(1) (A) , oa (B) nk s uk s a 
(2) d s o y (B) 
(3) d s o y (C) 
(4) (A), (B) v k S j (C) 

  97. Which of the following is/are correct 
sequences in reference to geological 
period ? 

(A) Triassic → Jurassic → Cretaceus 

(B) Paleozoic → Mesozoic → 
Cenozoic 

(C) Devonian → Silurian → 
Carboniferous 

Correct options is/are : 

(1) Both (A) and (B) 

(2) Only (B) 

(3) Only (C) 

(4) (A), (B) and (C) 

98. ^ xq ynLrk  v o LF kk * y{k. k  gS % 
(1) r uq iV~V d k (2) ; q Xe iV ~V d k  
(3) LF k w yiV~V d k (4) f }iV ~V d k 

  98. Bouquet stage is character of : 

(1) Leptotene  (2) Zygotene  

(3) Pachytene  (4) Diplotene  

99. fu Eu fyf [k r e sa ls d kS u-l k r Ro ik niks a es a 
o ` gnek f= d  rRo ughaughaughaugha   gS \ 
(1) iks V S f'k; e  (2) d S fYl; e  
(3) e S Xuh f'k; e  (4) l YQ j  

  99. Which of the following element is 

not a macro element in plants ?  

(1) Potassium  (2) Calcium  
(3) Magnesium (4) Sulphur  

100. o U;t ho la j{k. k  v e ` rk ns oh  f c'uk s bZ jk"V ª h;  
iq jLd kj d s izF ke  iz k Ird rk Z F k s \ 
 

(1) M kW0  jkf xu h 'kk g   
(2) xa xk  jk e fc'uks bZ  
(3) jkt s Unz f la g   
(4) xkS jh ek S ys [ kh 

  100. The recipient of first Amrita Devi 
Bishnoi National Award for Wildlife 
Conservation was : 

(1) Dr. Ragini Shah  

(2) Ganga Ram Bishnoi 

(3) Rajendra Singh  

(4) Gauri Maulekhi  
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101. fu Eu fyf [k r es a l s d k Su-l k e #LF k yh; ikni 
d s fy , 'kjhjfØ ;k Red  v u qd w yu  gS \ 
 
(1) C3 pØ (2) C4 pØ 
(3) C2 pØ (4) CAM pØ  

  101. Which of the following is a 

physiological adaptation of desert 

plants ? 

(1) C3 Cycle  (2) C4 Cycle 
(3) C2 Cycle (4) CAM Cycle 

102. ; fn , d  fo y;u  ok ;q e .M yh ; nc ko ls 
v f/k d  nc ko d s v /k hu hÑ r f d ;k  tk ,]  rk s 
m ld k ty  f oH k o % 
(1) c <+ s xk   
(2) d e  gk s xk  
(3) 'kw U ; gks tk, xk   
(4) v izH kk fo r jgs xk  

  102. If a solution is subjected to a 
pressure greater than atmospheric 
pressure, its water potential :  
(1) Increases   
(2) Decreases  
(3) Becomes zero   

(4) Remains unaffected  

103. izF ke  ijk thu h xk ; ^ jk s t+ h* d s nq X/ k e sa D;k 
m if LF kr F k k \ 
(1) , YQ k-1-, UVh fV ª if lu  
(2) e ku o ,YQ k yS DVs YC; w feu 
(3) c hV h iz k s Vh u 
(4) bUlq f yu 

  103. What was present in the milk of first 
transgenic cow 'Rosie' ? 
(1) Alpha-1-Antitrypsin  
(2) Human alpha lactalbumin  
(3) Bt protein  
(4) Insulin  

104. PAR d h lh ek  gS % 
(1) 200 nm - 800 nm 
(2) 400 nm - 700 nm 
(3) 400 µm - 700 µm 
(4) 200 µm - 800 µm 

  104. PAR range is :  

(1) 200 nm - 800 nm 
(2) 400 nm - 700 nm 
(3) 400 µm - 700 µm 
(4) 200 µm - 800 µm 

105. fu Eu fyf [k r e s a ls fd l es a iq "i nks u ks a v jh; 
, oa f} i{k h; l ef efr iz nf'k Z r d jrs gS a \ 
 
(1) gkW y hgkW d   (2) l w jteq [ kh 
(3) xkM Z u eV j  (4) xs a nk 

  105. In which of the following, flowers 
exhibit both radial and bilateral 
symmetry ? 

(1) Hollyhock  (2) Sunflower  
(3) Garden Pea  (4) Marigold  

106. iS Vª k s ekbtk s u e sa % 
(1) ; Ñ r pk jik fy; q Dr gk s rk  gS   
(2) o ` Dd  f uo kf gd k  ra =  m if LF kr gks r k gS  
(3) ;Ñr fuokf gd k f'kjk vuq if LFkr gksrh gS  
(4) , d  ylh d k r a=  ik ;k  t krk gS  

  106. In Petromyzon :  
(1) Liver is tetralobed  
(2) Renal portal system is present  
(3) Hepatic portal vein is absent   
(4) A Lymphatic system is present  

107. Le`fr ij vk/kkfjr vfH kfoU;kl  dgykrk 
gS % 
(1) f ue ks V S fDll (2) e s uk s VS f Dl l  
(3) d k bus fl l (4) V hy ks V S fDll  

  107. Orientation based on memory 
called :  
(1) Mnemotaxis  (2) Menotaxis  
(3) Kinesis  (4) Telotaxis  
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108. v a d q'k Ñ fe d h laØ fer voLF k k gS % 
(1) jS CM hfV Q kW eZ ykjo k  
(2) e S Vk ljd s fj; k ykjo k  
(3) l jd s f j;k  y kjok   
(4) f Q yS jhQ k W eZ yk jo k  

  108. Infective stage of Hook worm is :  
(1) Rhabditiform larva  
(2) Metacercaria larva 
(3) Cercaria larva 
(4) Filariform larva 

109. u j ePN j ds lU nH k Z es a l ghl ghl ghl gh  d F ku  pq fu, % 
 

(1) ; s d 'k s :fd ;ksa d k  jDr pw lrs gS aA  
 

(2) bud h v/ kks xz lu h d e fo d fl r gk s rh  gS 
rF kk  v /k ks jks "B  ls la xf yr gks r h gSA  

(3) e S f. Mc Yl l q bZ d s le ku  gks rs gS a rF kk 
v k jh  d h  v kÑ f r d s le ku  na rq j gks r s 
gS aA  

(4) u j d s Ük ` a fxd k fo jy jk s fey  ¼ d e  N ks Vs 
c kyk s a o ky s½ gk s rs gS aA 

  109. Select true statement about male 
mosquitoes : 
(1) They are blood suckers of 

vertebrates.  
(2) Their hypopharynx is less 

developed and fused with 
labium.   

(3) Mandibles are needle like and 
are serrated broad saw shaped.   

(4) Antennae of male are pilose 
(with few short hair). 

110. fu Eu  e s a l s dk S u-l k cgq ujh; f}y S a fxd  l ew g 
u gh au gh au gh au gh a c uk rk  gS \ 
(1) xks f jYy k (2) jh ll  
(3) ikr l cUnj  (4) f xy gjh  c Unj 

  110. Which one of the following is not 
form multimale bisexual group ?  

(1) Gorilla  (2) Rhesus  
(3) Patas monkey(4) Squirrel monkey  

111. Q f VZ y kbftu  gS % 
(1) Xy kbd ks iz ksV hu   (2) X ykbd k s fyf iM  
(3) ikW f yfy fiM (4) M kblS d s jk bM   

  111. Fertilizin is :  
(1) Glycoprotein (2) Glycolipid  
(3) Polylipid (4) Disaccharide  

112. d k s iz k sQ S th d k  v F kZ gS % 
(1) # f/kj d k  m iH k ks x d ju k  
(2) f o"B k d k  m iH k ks x d ju k 
(3) r us d k m iH k ks x d ju k  
(4) ?k kl  d k  m iH kks x d juk 

  112. Coprophagy means :  
(1) Consumption of blood   
(2) Consumption of  faeces 
(3) Consumption of stems   
(4) Consumption of grass  

113. fu Eu fyf [k r es a ls d kS u-lk RNA lke kU ;r% 
tk fr o` Ù kh ; fo'ys "k . k gs r q iz ; q Dr gk s rk  gS \ 
 
(1) 16 S rRNA (2) 5 S rRNA 
(3) 28 S rRNA (4) hn RNA 

  113. Which of the following RNA is 
commonly used for phylogenetic 
analysis ?  
(1) 16 S rRNA (2) 5 S rRNA 
(3) 28 S rRNA (4) hn RNA 

114. e kW fUV ª ; y iz ks Vk s d kW y lE c)  gS % 
(1) o kr ko j.k h; ifjo rZ u  d s 'k eu  l s  
(2) l rr f od k l ls  
(3) tS o-fo fo/k rk la j{k .k  ls  
(4) vkstksu ijr dk {k; djus okys inkFkks± ls  

  
114. Montreal Protocol is concerned with : 

(1) Mitigation of climate change  
(2) Sustainable development  
(3) Biodiversity conservation  
(4) Substances that deplete ozone layer  
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115. 'kk bu-Ms y xk uk s Z v u qØ e m if LF kr gks r k gS %  
 
(1) rRNA i j  (2) tRNA ij  
(3) mRNA ij  (4) izkjEHku dkjd ij  

  115. Shine-Dalgarno sequence is present 
on :  

(1) rRNA  (2) tRNA  

(3) mRNA  (4) Initiation factor  

116. f} in u ke d j.k d s l a nH k Z es a vl R;vl R;vl R;vl R;  dF ku 
d k  p ;u  d hft , %  
 

(1) , d  oa'k ls la c)  iz R;s d  th o d k , d 
tk rh ; uk e gks r k gSA  

(2) f of H kUu  o a'kks a ls lEc )  tho ks a d ks le ku 
tk rh ; uk e fn; k tk ld rk gSA  
 

(3) y hfu ;l  us f} in uk ed j. k d s f y, 
y S fV u d k iz ; ks x fd ; k D;ka sf d  ; g , d 
e ` r H kk "kk  F k hA  

(4) ikniks a ,o a tUr qv ksa es a V kWV ks fu El d h 
v u q efr gSA 

  116. Select the incorrect statement in 
reference to the Binomial 
nomenclature :  

(1) Each organism belonging to a 

genus has a specific name.  

(2) Same specific name can be 

given to organisms belonging to 

different genera.  

(3) Linnaeus used Latin for 

Binomial nomenclature as it was 

a dead language. 

(4) Tautonyms are allowed in plants 

and animals.   

117. iz kjEH ku  l s d s fYou  pØ d s rh u iz e q [k 
pj. kk s a d k lgh  lgh  lgh  lgh   v u qØ e D;k  gk s xk  \  
 

(1) iq u# Riknu]  v ip; u] d k ck sZ fDlyh d j.k  
 

(2) v ip; u] d k ck s ZfDlyh d j.k ] iqu #R ik nu  
 

(3) d k ck s Z fDlyhd j. k] v ip;u ] iq u #R ik nu  
 

(4) d k ck s Z fDlyhd j. k] iq u#R ik nu] v ip;u  

  117. The correct sequence of the three 

major stages of Calvin cycle from 

beginning is : 

(1) Regeneration, Reduction, 

Carboxylation 

(2) Reduction, Carboxylation, 

Regeneration  

(3) Carboxylation, Reduction, 

Regeneration  

(4) Carboxylation, Regeneration, 

Reduction  

118. fu Eu fyf [k r e s a ls d kSu-ls ikn i lew g  d ks 
^^ l a oguh ; fØ IV ks xs El** d gk tk rk  gS \ 
(1) 'kS o ky   
(2) c z k; ks Q k bV ~l 
(3) V s fjMk s Q kbV~l 
(4) f tEuk s Lie Z  

  118. Which of the following plant group is 
known as the 'vascular cryptogams' ? 

(1) Algae   

(2) Bryophytes  

(3) Pteridophytes  

(4) Gymnosperms  
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119. fu Eu fyf [k r es a l s d kSu-lk  d s Unz d f oghu 
th fo r d ks f 'kd k  d k mnkgj. k gS \ 
 
(1) l gpj d k s f'kd k   
(2) H k wz .k ik s "k d ks f'kd k 
(3) p kyu h d ks f 'kd k 
(4) n` <+ d ks f'k d k 

  119. Which of the following is an 
example of a living plant cell, devoid 
of nucleus ? 
(1) Companion cell  
(2) Endosperm cell  
(3) Sieve cell  
(4) Sclereids  

120. fuEufyf[kr esa ls ijkxdks "k fHkfÙk dh dkSu-lh 
ijr d h d ks f 'k d k,¡ va r%l elw = h foH kkt u ds 
d k j. k  c gqd s Unz d h; gks r h gSa  \ 
(1) c htk . Md k ;  (2) v U rLF k hfl ;e  
(3) e /; ijr  (4) V s fiV e  

  120. The cells of which of the following 

layers of the anther wall are 

multinucleated due to endomitosis ? 

(1) Nucellus  (2) Endothecium  

(3) Middle layer  (4) Tapetum  

121. V ª ks d ks Q ks j yk jok  fu Eu iz k f. k lew gks a ds 
ifjo/ kZ u d s nkS jku  c ur k gS %  
 

(1) , us f yMk ] ek s yLd k , oa bd k bu ks M esZ V k 
 

(2) v k F kz ksZ iks M k] , us f yMk  ,o a bdk buks M esZ V k 
 

(3) v k F kz ksZ iks M k] bd k bu ks Mes Z V k ,o a lhy s UVjs V k 
 

(4) , us f yMk ] ek s yLd k] ,o a c z k; kstk sv k 

  121. Trochophore larva appears in the 
development of following animal 
groups : 
(1) Annelida, Mollusca and 

Echinodermata  
(2) Arthropoda, Annelida and 

Echinodermata 
(3) Arthropoda, Echinodermata and 

Coelenterata  
(4) Annelida, Mollusca and Bryozoa 

122. fu Eu  e s a ls d kS u-l k U;w f Dyd  v Ey mikip; 
d s tUe tkr fo d kj d k ifj. kke  gS \ 
 
(1) gkV Z ui jk s x  
(2) Q S c z h d k  jks x  
(3) y S'k &fugk u flU Mª ks e   

(4) e S d v kM Z ys l fl UMª k s e 

  122. Which one of the following is result of 
inborn error of nucleic acid 
metabolism ?  

(1) Hartnup disease  

(2) Fabry's disease  

(3) Lesch-Nyhan syndrome  

(4) McArdles syndrome  

123. e sa <d  d s d k; kUr j.k  e s a iq PN  f oyq I rh d j. k ds 
nkS jku  f uEu e sa ls d kSu-lk  , Utk be  f of 'k"V 
xfr fo f/k e s a d e  gk s t krk  gS \ 
(1) d SF ks fI lu 
(2) , fl M Q kW LQ s Vs t  
(3) Mg++ l fØ ; , V hih, t (ATPase) 
(4) jkbc ks U; w fDy, t  

  123. Which of the following enzyme 
declines in specific activity during tail 
regression of frog metamorphosis ?  

(1) Cathepsins  

(2) Acid phosphatase  

(3) Mg++ activated ATPase  

(4) Ribonucleases  
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124. fu Eu  es a ls d kS u-l h] eSe s fy; k d h v fo yq Ir 
bUÝ k Dy kl ls lEc fU/ kr gS \ 
(1) bv ksF k hfj; k  
(2) , yk sF khf j; k 
(3) v k jf uF k ks MS f YQ ;k 
(4) is UV ksF kh fj;k 

  124. Which of following belongs to non-
extinct infraclass of mammalia ?   

(1) Eotheria   

(2) Allotheria  
(3) Ornithodelphia   

(4) Pantotheria  

125. iknik s a d k d kS u-lk le q Pp; 'ka d q /kk j.k 
d jr k gS \ 
(1) ikbu l rF kk  fjfDl; k  
(2) bDoh flV e rF kk e kd s Z fU'k; k 
(3) l kbd l rF k k ikbul 
(4) l kfYo fu ;k  rF kk  ¶; w us fj; k 

  125. Which set of plants bear cones ? 
 

(1) Pinus and Riccia 

(2) Equisetum and Marchantia  

(3) Cycas and Pinus 

(4) Salvinia and Funaria 

126. i`'po` Dd  o ` Dd  fu feZ r gks r s gS a % 
(1) ifjQ q I Q q lm n; kZ xq f gd k d s v xz f ljs 

} kjk 
(2) e /;o rh Z iz xq gk  d s e /; H kk x ls  

 
(3) o ` Dd tu e hlk sMe Z d s i'p H kkx ls  

 
(4) e /;o rh Z iz xq gk  d s v xz Hk kx ls  

  
126. Metanephros kidney formed from the : 

(1) Anterior end of pleuroperitoneal 

cavity  

(2) Middle part of intermediate 

coelom  

(3) Posterior end of the nephrogenic 

mesoderm.   

(4) Anterior part of intermediate 

coelom 

127. gs es f jf F kz u  % 
(1) , d  v .k q gS tks d kW ij ijek . kq ls 

v k W Dl htu  c k¡/k us d k d k e d jrk  gSA 
(2) ble s a gh e u gh a gk s rk  rF k k yk S g r Ro 

l h/ks iz ks V hu  l s tqM + rs gS aA 
(3) ; g v kF k z ks Z iks M k es a ik;k  tkr k gSA  
(4) ; g v kW DlhÑ r gks u s ij gjk ,o a 

v u kW DlhÑ r gks u s ij xq y kch  gks t krk  
gSA 

  127. Hemerythrin : 

(1) It is a molecule which use 

copper atom to bind oxygen. 

(2) There is no haem in this and Iron 

atom are bound directly to the 

protein.  

(3) It is present in Arthropods.  

(4) It is green when oxygenated and 

pink when deoxygenated.  

128. fu ;k flu  d k la'ys " k. k gks rk gS % 
(1) f F kzv ks fuu  l s  (2) f Vª I Vk s QS u ls  
(3) f efF k ;k s fu u ls  (4) v k blks Y; w flu  ls  

  128. Niacin is synthesized from : 

(1) Threonine  (2) Tryptophane  

(3) Methionine  (4) Isoleucine  
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129. Q y ks a d k s v iz kÑ f rd  :i ls id ku s d s f y, 
iz ;q Dr d S fYl ;e  d k ck Z bM ikm Mj mR iUu  
d jr k gS % 
(1) tS Le ks f ud  v Ey  
(2) f tcjs f yu  
(3) bF kk byhu   
(4) , lh Vk by hu  

  129. Calcium carbide powder which is 

used for artificial ripening of fruits,    

produces : 

(1) Jasmonic acid 
(2) Gibberellins  
(3) Ethylene 
(4) Acetylene  

130. nw/k ij y S fDVd  v Ey tho k. kq d h fØ ; k ls 
fu fe Z r ngh  l e` )  gk s rk  gS % 
(1) f oV kf eu  C ls  (2) f oV kf eu  A ls 
(3) f oV kf eu  B12 ls (4) f oV kf eu  D ls 

  130. The curd formed by the action of 
lactic acid bacteria on milk, is rich in :  

(1) Vitamin C (2) Vitamin A 

(3) Vitamin B12 (4) Vitamin D 

131. E; w js f ed  v Ey  m ifLF kr gk s rk gS %  
 

(1) e k; d ks I ykTe k d h d ks f'kd k  fH kf Ù k esa  
(2) u hy gfjr 'kS o ky  d h d ks f 'kd k f Hk fÙ k  e s a  
(3) Q Q wa nh  d h d ks f 'k d k fHk fÙ k  es a  
(4) 'kS o kd  d h dks f 'k d k fH k fÙ k  e sa  

  131. The muramic acid is present in the 
cell wall of :  
(1) Mycoplasma  
(2) Blue green algae  
(3) Moulds  
(4) Lichens  

132. Ø s Cl  pØ  d s l a nH kZ es a v lR ; v lR ; v lR ; v lR ; dF k u d k 
p; u d h ft, % 
(1) p Ø  d k iz k jE H k ik b# fo d  v Ey d s lkF k 

, s flf Vy  lew g d s la ?k uu  ls mR iUu  
f lfV ª d  v Ey ls gk s rk  gSA 
 

(2) l Dlh fu y d ks , Utkbe  A d s lDlh fu d 
v Ey  e a sa :ikUr j. k d s le ; GTP d k  
, d  v . kq cu rk gSA  

(3) p Ø  esa ,d  fcU nq ij FAD+; 
FADH2 es a v ip f; r gks rk  gSA 

(4) NAD+ r hu  f cUnqv ks a ij NADH + 
H+ e s a vipf ;r gk s rk  gSA  

  132. Select the incorrect statement in 

reference to Krebs cycle : 

(1) The cycle starts with 
condensation of acetyl group 
with pyruvic acid to yield citric 
acid.  

(2) A molecule of GTP is 
synthesised during conversion of 
succinyl CoA to succinic acid. 

(3) At one point in the cycle, FAD+ 
is reduced to FADH2.  

(4) NAD+ is reduced to NADH + H+ 
at three points in the cycle. 

133. vk/kqfud dky esa] fuEufyf[kr esa ls dkS u-lh 
e `nk  l aj{k .k  d h fo f/k  u ghau ghau ghau gha   gS \ 
 
(1) l h<+ h nk j [ ks r c uk uk 
(2) o k; q jk s/kd  f ufe Z r d ju k 
(3) > we  Ñ f"k 
(4) Q l y pØ hd j.k 

  
133. Which one of the following is not a 

measure for soil conservation, in 
modern times ? 

(1) Terracing  

(2) Windbreaks  

(3) Jhum cultivation  

(4) Crop rotation  
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134. H kk jr e s a f ons'kh; [ kji ro kj t kfr d k  
m nk gj. k gS % 
(1) xktj ?kkl  
(2) iz ks l ks fil fl us js fj;k  
(3) e hfy v k v ts Mh js d  
(4) v d s f 'k; k fu yks f Vd k 

  134. An example of alien weed species in 
India is : 

(1) Carrot grass   

(2) Prosopis cinereria  

(3) Melia azadirach  

(4) Acacia nilotica  

135. 3' G T Py Pu A C 5' 5' C A Pu Py T 
G 3' 

fd l ,a tk be d k js fLV ª D'k u LF ky  gS \ 
(1) Bam HI (2) Eco RI 
(3) Hind II (4) Hind III 

  135. 3' G T Py Pu A C 5' 5' C A Pu Py T 
G 3' 

is the restriction site of which 
enzyme ? 

(1) Bam HI (2) Eco RI 
(3) Hind II (4) Hind III 

136. ikfjf LF kfr d  le d {kd d ks lgh rjh d s ls 
ifjH kk f"k r fd ; k tk  l d rk  gS % 
(1) , s ls iz k. k h tks vy x H kk Sxks fyd  {ks = ks a es a 

l eku  ik fjfLF k frd  f up  e sa jgrs gks aA  
 

(2) ; g ek = , d  gh  tk fr d s iz kf . k; ks a d h  
l ef" V gSA  

(3) ; g og vf Ur e f or j. k  bd k bZ gS] 
f tle s a iz R; s d  tk fr Lo ;a d h  
l ajp ukR ed  , oa lgt l hek v ks a esa j[ kh 
tk rh  gSA  

(4) ; g iz k . kh d s iks "k h LF k ku ls l Ecf U/kr 
gks r k gSA 

  136. Ecology equivalents is best defined 
by : 

(1) Organisms that occupy the same 
or similar ecological niche in 
different geographical region.   

(2) It is the population of 
individuals of only one species.  

(3) It is the ultimate distributional 
unit within which each species is 
held by its structural and 
instinctive limitations.   

 (4) It is concerned with the trophic 
position of an organism.  

137. fu Eu  d k s l q es f yr d h ft, % 
A. vf N nz laf/ k  i. vk latu eS dq yk  

B. iV~ ca/ k dk ; ¼ cSYV ca/ k dkHk½  ii. laj ks/ k ea Mfy dk 

C. Lik WV ca/ kdk ; iii. dE; wfu dsU l eS dqyk  

D. varj k y laf/ k  iv. vk latu ea Mfy dk 

l ghl ghl ghl gh   fo dYi gS % 
 A B C D 

(1) i ii iii iv 

(2) ii iv i iii 

(3) ii iii iv i 

(4) iii ii i iv 

  137. Match the following : 

A.  Tight junction     i.    Macula adherence  

B.  Belt desmosomes    ii.   Zonula occludens  

C.  Spot desmosomes     iii. Macula communicans 

D.  Gap junction     iv.  Zonula adherens  

Correct option is :  

 A B C D 

(1) i ii iii iv 

(2) ii iv i iii 

(3) ii iii iv i 

(4) iii ii i iv 
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138. d k S u-lk  Å rd  iq uf oZH k s nu d k  ifj. kke  u gh au gh au gh au gh a 
gS \ 
(1) d k x 
(2) d k xt u 
(3) f }r h; d  o Ydq V 
(4) f }r h; d  t k; ye 

  138. Which tissue is not a result of         
re-differentiation ? 

(1) Cork 
(2) Phellogen  
(3) Secondary cortex 
(4) Secondary xylem 

139. fu Eu  e s a ls d kS u lw{e d k; u ghau ghau ghau gha gS \ 
 
(1) ijv kW Dlhl ks e (2) X ykbZv kW Dlh lks e 
(3) LQ h jks lk s e (4) l s UV ªk s lks e 

  139. Which of the following is not a 
microbody ? 
(1) Peroxisome (2) Glyoxisome 
(3) Sphaerosome (4) Centrosome 

140. c z S af d ; ks LV ks ek  e sa gk s rk  gS % 
(A) c ká d ad ky   
(B) ; q Xed-ok fguh   
(C) ân;   
(D) ja xgh u #f /kj  

l ghl ghl ghl gh   fo dYi gS@gS a %  
(1) d s o y (A)  
(2) d s o y (A) , o a (B) 
(3) d s o y (C) , o a (D)  
(4) d s o y (D) 

  140. Branchiostoma has :  

(A) Exoskeleton  
(B) Gonoduct  
(C) Heart         
(D) Colorless blood  
Correct option is/are : 
(1) Only (A)   
(2) Only (A) and (B)  
(3) Only (C) and (D)  
(4) Only (D) 

141. izF ke  e ku oh ; ?kM + h thu  ¼ á w eu  DykW d  t hu ½ 
d k s [ kk s tk F kk  % 
(1) jks u ks dks u ksI d k us  
(2) L; s ek s j us  
(3) f ;a x gq bZ Q w u s  
(4) gh lw f I'k; k us  

  141. First Human clock gene was 
discovered by :  
(1) Rono Konopka  
(2)  Seymour  
(3) Ying-Hui-fu 
(4) Hee Supshia  

142. Ø LV s f'k;u fu ek s Z pu esa ^^ ,us DMk bf ll pØ ** 
d k  v F kZ gS % 
(1) ba V je ks YV N ks V h rF kk iz h ek s YV yEc h gks rh  

gSA  
(2) ba V je ks YV nh?k Z rF k k iz he ks YV d e  gks rh  

gSA  
(3) ba V je ks YV , o a iz he ks YV le ku  v o f/k  d h 

gks r h gSaA  
(4) u , cf g% d a d ky d k f ue kZ . k v /kw jk gks rk 

gS rF kk bl d s iw . kZ gksu s ds f y, 
, DMkblk s u gk W ek s Zu d h v ko';d r k gks rh  
gSA 

  142. In Crustacean's moulting meaning of 
"Anecdysic cycle" is :  

(1) Intermoult is short and premoult 
is long.  

(2) Intermoult is long and premoult 
is short.  

(3) Intermoult and premoult are of 
same duration. 

(4) Formation of new exoskeleton is 
incomplete and needed ecdysone 
hormone for completion of 
exoskeleton.    
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143. fu Eu fyf [k r d F kuk sa d k s /;ku e s a j[k rs gq , 
l ghl ghl ghl gh  dF k u pq f u, % 
(A) y S fja Xl 'ol uh ; xfr ;ks a ls l Ecf U/kr 

gSA  
(B) V ª S fd ; k i{e kH k h; 'kYd h  m id y k ls 

v k Lrfjr jgrk  gSA  
(C) Ø k mi jk s x]  t uu  r a = d k  jks x gSA  

 
(D) Q s Q M+ ksa e s a lq bZ tS lh  p qHku  d k  gks u k , d 

iz fr j{kkR ed  jks x gSA  
l ghl ghl ghl gh   d F ku  gS a % 
(1) l Hk h  

(2) (A), (B) , oa (C) 
(3) (B), (C) , o a (D)  

(4) (A) ,o a (D) 

  143. Consider the following statements, 
select correct ones :  

(A) Larynx is associated with 

breathing movements. 

(B) Trachea is lined with ciliated 

squamous epithelium.  

(C) Croup is a disease of the 

reproductive tract. 

(D) Lung pinprick condition is an 

immunological disease.  

The correct statements are : 

(1) All   

(2) (A), (B) and (C) 
(3) (B), (C) and (D)  

(4) (A) and (D) 

144. MEA 2005 e s a if jH kkf "k r ikfjfLF k fr d h; 
r a = ls o kv ks a d h  Js f . k; ks a d h la [ ;k  gS % 
 
(1) r hu   (2) p kj  
(3) ik¡ p  (4) N % 

  144. The number of categories of 

ecosystem services as defined in 

MEA 2005 is : 

(1) Three  (2) Four  

(3) Five  (4) Six  

145. fd ld s v Ur xZ r t hu h :i l s f H kUu 
ijk xd .k  of rZ d k xz ij yk , tk rs gS a \ 
 

(1) p S Le ks xS eh  d s l e;   
(2) th Vk s uk s xS e h d s le; 
(3) th uk s xS e h ds le;  
(4) f Dy LVk s xS e h d s le;     

  145. Genetically different type of pollen 

grains are brought to the stigma 

during :  

(1) Chasmogamy  

(2) Geitonogamy  

(3) Xenogamy   

(4) Cleistogamy  

146. jkbck s tkbe  gks r s gS a % 
(1) iz ks V hu h; t S om Riz s jd   
(2) , yk s LV hf jd  ,Ut kbe  
(3) d s o y jkbck s lk se  es a mifLF k r , Utkbe   

 
(4) v iz ks V hu h; tS o m Riz s jd  

  146. Ribozymes are :  

(1) Proteinaceous biocatalyst   

(2) Allosteric enzymes  

(3) Enzymes present only in 

ribosomes  

(4) Non-proteinaceous biocatalyst  
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147. l ghl ghl ghl gh  dF k u d k p; u d h ft, % 
(1) f d lh leq nk ; e s a ijH k {kh fo fo/kr k d ks 

c uk , j[k rs gS aA 
(2) l hfe r la lk/ ku v kiw fÙ kZ d s le f"V d h  

v lh fe r o `f )  gk s rh gSA 
(3) l Hk h ikni c ht izl q Ir rk  n 'kk Z rs gS aA 
(4) o g tk fr t ks fd lh  m tk M+ {ks =  e s a iz o s'k  

d jr h gS]  p je  d gy kr h gSA 

  147. Select correct statement : 

(1) Predators maintain the diversity 
in a community. 

(2) Limited resource supply leads to 
unlimited growth of population. 

(3) All plants show seed dormancy.  

(4) The species that invade a bare 
area is called climax. 

148. e ku y hf t, f d , d  th u e s a fu Euf yf[ kr 
f} jTt q d h  Ük ` a [k yk gS % 
5' - ATGTTTAGCGCC 3' 
3' - TACAAATCGCGG 5' 

;fn Åij okyk jTtq ^^lsal LVªS.M** gS vkSj ,d 
mRNA dks dksfMr djrk gS] rks fuEufyf[kr 
e sa ls d kS u-lh  Ük à [k yk mld s v uq :i 
^^ , UV hls a l  RNA* * dh  [ k. M gks xh \  
(1) 5' AUGUUUAGCGCC 3'  
(2) 5' CCGCGAUUUGUA 3' 

(3) 5' UACAAAUCGCGG 3'  
(4) 5' GGCGCUAAACAU 3' 

  148. Suppose a gene contain the 
following double stranded sequence :  
5' - ATGTTTAGCGCC 3' 
3' - TACAAATCGCGG 5' 
If the top strand is the "sense strand" 
and codes for a mRNA, which of the 
following would be the sequence of 
the corresponding segment of 
"antisense RNA" ? 

(1) 5' AUGUUUAGCGCC 3'  
(2) 5' CCGCGAUUUGUA 3' 

(3) 5' UACAAAUCGCGG 3'  
(4) 5' GGCGCUAAACAU 3' 

149. fu Eu fyf [k r d F ku ksa ij fopk j d hf t, v kS j 
v ku q oa f 'kd  d w V ds la nHk Z es a v lR;  v lR;  v lR;  v lR;  dF ku 
d k  p ;u  d hft , % 
(1) p kS lB  (64) d w V ¼d ks MkW u½ gks r s gS aA 
(2) AUG d w V d s nk s gjs d k;Z gk s rs gS aA  

 
(3) r hu  d w V fd l h H kh  v eh uk s a v Ey dks 

d k s fM r ugha d jr s gS aA  
(4) iz R; s d  v ehu ksa v Ey  , d i`F kd  d w V 

} kjk d ks fMr gk s rk gSA 

  149. Consider the following statements 
and select the incorrect one in 
reference to the genetic code : 
(1) There are 64 codons.  
(2) The codon AUG has dual 

functions.  
(3) Three codons do not code for 

any amino acid. 
(4) Each amino acid is coded by a 

separate codon.  

150. , d  v ijnh; [ kk|  Ük` a [k yk  d s fy , Å tkZ 
d k  v f Ure  òk s r gS % 
(1) gjs ikni  (2) e ` r d k "B 
(3) l w; Z  (4) e ` nk 

  150. The ultimate source of energy for a 

detritus food chain is : 

(1) Green plants  (2) Dead wood  

(3) Sun  (4) Soil  
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6. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys ckWy IokbaV 
iSu ls iw.kZr;k Hkjuk gS] tSlk fd uhps fn[kk;k x;k gS % 

1    �    3    4 
vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys [kkus 
dks fuEu izdkj ls Hkjrs gSa % 

�    �    �    � 
;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr ekuk 
tk,xkA 

  
6. Answers   to  questions  in answer sheet are  to  be  

given by darkening complete circle using Black ball 
point pen as shown below : 

1    �    3    4 

The answer will be treated wrong, if it is marked, as given 
below : 

�    �    �    � 

If you fill more than one circle it will be treated as a 

wrong answer. 

7. jQ dk;Z iz'u&iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh txg ij gh djsaA (Rough work should be done only in the space 

provided in the Question Booklet for the same.) 

8. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd ¼lQsn ¶Y;wM½ dk iz;ksx 
fuf"k) gSA (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener 

(white fluid) is not allowed for changing answers.) 

9. izR;sd iz'u ds fy, fn, x, pkj fodYiksa esa ls mfpr fodYi ds fy, OMR mÙkj i=d ij dsoy ,d o`Ùk dks gh iwjh rjg dkys ckWy IokbaV iSu 
ls HkjsaA ,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk ldrk gSA (Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer 

Sheet. The answer once marked is not allowed to be changed.) 

10. vH;FkhZ lqfuf'pr djsa fd bl mÙkj i=d dks eksM+k u tk, ,oa ml ij dksbZ vU; fu'kku u yxk,¡A vH;FkhZ viuk vuqØekad mÙkj i=d esa 
fu/kkZfjr LFkku ds vfrfjDr vU;= u fy[ksaA (The candidates should ensure that the Answer Sheet is not folded. Do not make 

any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the 

Answer Sheet.) 

11. iz'u&iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd fdlh Hkh ifjfLFkfr esa ¼iz'u&iqfLrdk ,oa mÙkj i=d ds Øekad esa fHkUurk dh fLFkfr 
dks NksM+dj½ nwljh nwljh nwljh nwljh iz'uiz'uiz'uiz'u    iqiqiqiqfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhfLrdk lSV miyC/k ugha djokbZ tk,xhA (Handle the Question Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of 

Question Booklet will not be provided.) 

12. iz'u&iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh rjhds ls gLrk{kj pkVZ esa fy[ksaA (The candidates should write the correct 

Number as given in the Question Booklet/Answer Sheet in the Signature Chart.) 

13. vH;FkhZ dks ijh{kk gkWy@d{k esa izos'k i= vkSj igpku i= ds vfrfjDr fdlh izdkj dh ikB~;&lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] 
istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA (Candidates are 

not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or 

any other material except the Admit Card and Identity Card inside the examination hall/room.) 

14. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos'k dkMZ ¼jksy ua0½ vkSj igpku i= fn[kk,¡A (Each candidate must show on demand 

his/her Admit Card (Roll No.) and identity card to the Invigilator.) 

15. dsUnz v/kh{kd ;k i;Zos{kd dh fo'ks"k vuqefr ds fcuk dksbZ vH;FkhZ viuk LFkku u NksMa+sA (No candidate, without special permission of 

the Superintendent or Invigilator, should leave his/her seat.) 

16. dk;Zjr i;Zos{kd dks viuk mÙkj i=d fn, fcuk ,oa gLrk{kj pkVZ ij nksckjk gLrk{kj fd, fcuk vH;FkhZ ijh{kk gkWy ugha NksMa+sxsA ;fn fdlh 
vH;FkhZ us nwljh ckj gLrk{kj pkVZ ij gLrk{kj ugha fd, rks ;g ekuk tk,xk fd mlus mÙkj i=d ugha ykSVk;k gS vkSj ;g vuqfpr lk/ku dk 
ekeyk ekuk tk,xkA OMR    mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij mÙkj i=d esa fu/kkZfjr LFkku ij lHkhlHkhlHkhlHkh    vH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fuvH;fFkZ;ksa }kjk ck;sa gkFk ds vaxwBs dk fu''''kkukkukkukku    yyyyxk;k tkuk gSA xk;k tkuk gSA xk;k tkuk gSA xk;k tkuk gSA vaxwBs dk vaxwBs dk vaxwBs dk vaxwBs dk 
fu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kfu'kku yxkrs le; bl ckr dk /;ku j[kk tk, fd L;kgh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh gh lgh ek=k esa gh yxkbZ tk, vFkkZr~ L;kgh dh ek=k u rks cgqr vf/kd gks o u gh 
cgqr deA cgqr deA cgqr deA cgqr deA (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the 

Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart 

second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All 

candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which 

should be properly inked i.e. they should not be either over inked or dried in nature.) 

17. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA (Use of Electronic/Manual Calculator is prohibited.) 

18. ijh{kk gkWy esa vkpj.k ds fy,] vH;FkhZ foojf.kdk esa nh xbZ izfØ;k@fn'kk&funsZ'k o cksMZ ds lHkh fu;eksa ,oa fofu;eksa dk fo'ks"k /;ku j[ksaA vuqfpr 
lk/kuksa ds lHkh ekeyksa dk QSlyk cksMZ ds fu;eksa ,oa fofu;eksa ds vuqlkj gksxkA (The candidates are governed by 

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their 

conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.) 

19. fdlh gkyr esa iz'u&iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx vyx u djsaA (No part of the Question Booklet and Answer Sheet shall 

be detached under any circumstances.) 

20. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj i=d d{k&i;Zos{kd dks vo'; lkSai nsaA vH;FkhZ vius lkFk bl iz'u&iqfLrdk dks ys 
tk ldrs gSaA (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the 

Room/Hall. The candidates are allowed to take away this Question Booklet with them.) 
 

� � 
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HTET Exam., 2021 Set:A Level 3 

PGT: For Lecturer 
Sub. Code No.: 317 BIOLOGY Final Answer Key 

Part V Part Part: Part: Part:I 
QN. Ans. QN. Ans. QN. Ans. QN. Ans. QN. Ans. 

091 (3) 121 4) 001 (4) 31 2) 061 (3) 

092 (2) 122 3) 032 4) 062 (1) 002 (3) 
093 (2) 123 3) 33 2) 063 003 (1) 
094 (3) 124 3) D64 (2) 004 (2) 34 

3) 005 ( 35 4) 065 

096 (2) 126 3) 066 (4) 006 (2) 

097 127 007 3/ ) 

28 (2) 068 (1) 098 (1) 008 ( 038 

069 4) O99 ( 4) 009 

100 (2) 3) 30 010 (3) 040 (4) 070 (4) 

31 2) 4) 071 101 (2&4 011 (2 41 

072 () 102 () 1) 042 (4) 012 (2& 4) 

103 33 013 (4) 43 1) 07S 

074 (3) 104 (2) 34 () 014 (1 044 (3) 

075 () 105 (2) 35 015 (3) 45 ) 

046 (1) 076 (1) 106 (4) 36 016 () 
107 (1) 137 2) 017 (1) 47 S) 

078 108 (4) 38 2) 018 (2) 048 (3) (4) 

109 (2) 39 4) 079 (2) 019 (2) 

080 () 110 (3) 40 4) 020 (3 050 (2) 

3) 021 

082 () 112 (2 142 ) 022 (3) 052 (1) 

083 (2) 113 (1) 023 2) 

054 (4) 084 (1) 114 4) 44 (2) 024 (4) 

025 (2) 085 (3) 115 (3) 055 2) 

086 116 (4) 145 (4) 026 (4) 056 (3) 

02 (3) 057 4) 087 (1) 117 3) 4 
088 (2) 118 (3) 48 (4) 028 (4) 058 (2) 

089 (1) 119 3) (4) 029 059 

090 (2) 120 (4) 50 (3) 030 (3) O60 (4) 
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